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k/LIff k|0ffnL -of]hgf_ 

kf7\oqmdsf] ?k/]vf M—  ;+o'Qm / PsLs[t k/LIff k|0ffnL (Integrated & Unified Examination System) sf] 

cfwf/df ;a}sf] nflu lgDgfg';f/sf] x'g]5 . 

lnlvt k/LIff (Written Examination) M— k|yd r/0f         k"0ff{Í M— !)) 

        låtLo r/0f               k"0ff{Í M— @%) 

clGtd r/0f (Final Examination) M—  ;Lk k/LIf0f, ;fd"lxs k/LIf0f / cGtjf{tf{ k"0ff{Í M— ^% 

lnlvt k/LIff of]hgf (Written Examination Scheme) 

!= lnlvt k/LIff M– k|yd r/0f (First Phase) 

tflnsf -!_ 

  kq                     ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

k|yd 

k|zf;lgs cle?lr 

k/LIf0f* 

(Administrative 

Aptitude Test) 

100 40 

j:t'ut (Objective): 

ax'j}slNks k|Zg 

(Multiple Choice 

Questions) 

!)) k|Zgx !cÍ 
! 306f 

#)ldg]6              

 

@= lnlvt k/LIff M– låtLo r/0f (Second Phase)   

tflnsf -@_ 

  kq                     ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

låtLo 

zf;g k|0ffnL 

(Governance 

Systems) 
100 40 

ljifout 

(Subjective) 

 

!)k|Zg x !)cÍ # 306f              

t[tLo 

;d;fdlos ljifo 

(Contemporary 

Issues) 
100 40 

ljifout 

(Subjective) 

 

 

!)k|Zg x !)cÍ 

 

# 306f 

rt'y{ 

P]lR5s ljifo** 

(Optional 

Subject) 

50 20 
j:t'ut (Objective): 

ax'j}slNks k|Zg 

(MCQs) 

%)k|Zg x ! cÍ $%ldg]6              

 

tflnsf -#_ 

-g]kfn Gofo ;]jfsf] nflu dfq yk_ 

  kq ÷ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

Gofo yk kq M  

;d;fdlos sfg"g tyf 

cEof; (Contemporary Law 

& Practices)  

100 40 
ljifout 

(Subjective) 

 

* k|Zg x !)cÍ 

$ k|Zg x % cÍ  
# 306f             

 

tflnsf -$_ 

-g]kfn k//fi6« ;]jfsf] nflu dfq yk_  

  kq ÷ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

Extra Paper I:   

c+u|]hL efiff  

(English Language) 
100 40 ljifout 

(Subjective) 

;DalGwt 

kf7\oj:t'df 

lbOP cg';f/ 

# 306f              

Extra Paper II:  k//fi6« 

gLlt tyf cGt/f{li6«o ;DaGw 

(Foreign Policy & 

International Relation)  

100 40 

 

ljifout 

(Subjective) 

 

!)k|Zg x !)cÍ 

 

 

# 306f 
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clGtd r/0fM – ;Lk k/LIf0f, ;fd"lxs k/LIf0f / cGtjf{tf{ (Skill Test, Group Test & Interview) 

tflnsf -%_ 

ljifo k"0ff{Í k/LIff k|0ffnL ;do 

;"rgf k|ljlw ;Lk k/LIf0f  

(Information Technology Skill Test) 
10 k|of]ufTds (Practical)#  @) ldg]6 

;fd"lxs k/LIf0f (Group Test) 10 ;d"xdf JolQmut k|:t'lt   

(Individual Presentation in Group) 
#) ldg]6 

JolQmut cGtjf{tf{ (Individual Interview) 45 df}lvs (Oral)  

JolQmut cGtjf{tf{ (Individual Interview) 

-g]kfn Gofo ;]jfsf] nflu_ 

55 
df}lvs (Oral)  

JolQmut cGtjf{tf{ (Individual Interview) 

-g]kfn k//fi6« ;]jfsf] nflu_ 

65 
df}lvs (Oral)  

tflnsf -^_ 

*k|zf;lgs cle?lr k/LIf0f (Administrative Aptitude Test) 

 

kq÷ljifo efu ljifoj:t' cÍ k"0ff{Í ptL0ff{Í k|Zg;+Vof x cÍ 

k|yd÷ 

k|zf;lgs 

cle?lr k/LIf0f 

(AAT) 

(A) General Awareness 50 

100 40 

%) k|Zg x ! cÍ 

(B) Aptitude Test  30 #) k|Zg x ! cÍ 

(C) 
English Language 
Competence Test 

20 @) k|Zg x ! cÍ 

tflnsf -&_ 

**P]lR5s ljifox?sf] ;"rL (List of Optional Papers) 

S. 

No. ljifo (Subject) 
S. 

No. ljifo (Subject) 
S. 

No. ljifo (Subject) 

001 Account & Finance 007 Environmental science 013 Political Science 

002 Agriculture 008 Forestry 014 Population studies 

003 Botany 009 Health science 015 Public Administration 

004 Economics 010 Law 016 Sociology & Anthropology 

005 Education 011 Microbiology 017 Zoology 

006 Engineering 012 Physics 018
+
 Chemistry 

tflnsf -*_ 

# k|of]ufTds k/LIff of]hgf (Practical Examination Scheme) 

ljifo  k"0ff{Í ljifoj:t' lz{ifs cÍ ;do 

;"rgf k|ljlw ;Lk 

k/LIf0f (IT Skill Test) 
!) 

Devanagari Typing @=% cÍ % ldg]6 

English Typing @=% cÍ % ldg]6 

Word processing @ cÍ 

!) ldg]6 

Electronic Spreadsheet ! cÍ 

Presentation System ! cÍ 

Windows basic,  Email and Internet ! cÍ 

hDdf !) cÍ  @) ldg]6 
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b|i6Jo M 

!= of] kf7\oqmd ?k/]vf÷of]hgfnfO{ ;+o'Qm / PsLs[t k/LIff k|0ffnL (Integrated & Unified 

Examination System) sf] cfwf/df lnlvt k/LIff -k|yd r/0f / låtLo r/0f_ tyf clGtd r/0f -;Lk 

k/LIf0f, ;fd"lxs k/LIf0f / cGtjf{tf{_ u/L b'O{ efudf ljefhg ul/Psf] 5 .  

@= dfly tflnsf -!_ / tflnsf -@_ df lbO{Psf] cg';f/sf] lnlvt k/LIff of]hgf ck|fljlws -Gofo, k//fi6«, 

k|zf;g, n]vfk/LIf0f / ;+;b_ ;]jfsf ;a} ;d'xsf] nflu clgjfo{ x'g]5 .  

 t/ g]kfn Gofo ;]jfsf] nflu tflnsf -#_ cg';f/sf] cltl/St kq÷ljifo yk ;dfj]z x'g]5 eg] g]kfn 

k//fi6« ;]jfsf] nflu tflnsf -$_ cg';f/sf] cltl/St kq÷ljifox? yk ;dfj]z x'g]5g\ . 

#= ;+o'Qm / PsLs[t k/LIff k|0ffnLsf] cfwf/df dfly plNnlvt ;]jfsf ;a} ;d'xsf] nflu k|yd, låtLo / 

t[tLo kq÷ljifosf] ljifoj:t' Pp6} (Common) / clgjfo{ x'g]5 . t/ rt'y{ kq P]lR5s ljifo tflnsf   

-&_ df lbOPsf ljifox? dWo] s'g} Ps ljifo dfq x'g]5 .  

$= rt'y{ kq P]lR5s ljifo tflnsf -&_ df lbO{Psf ljifox? dWo] h'g;'s} Ps ljifo 5gf}6 ug{ ;lsg]5 . 

pDd]bjf/n] kmf/fd ebf{ kmf/fddf lglb{i6 ul/Psf] 7fpFx?df cfk"mn] k/LIff lbg] P]lR5s ljifo clgjfo{ 

?kdf pNn]v ug'{ kg]{5 . 

%= g]kfn Gofo ;]jf / g]kfn k//fi6« ;]jfsf] nflu b/vf:t lbg] xf] eg] ;f]sf] nflu cltl/St kq÷ljifox? 

pDd]bjf/n] kmf/fd ebf{ kmf/fddf lglb{i6 ul/Psf] 7fpFx?df clgjfo{ ?kdf pNn]v ug'{ kg]{5 . 

^= plNnlvt ;a} ;]jf / cGtu{tsf ;d"xsf] v'nf / ;dfj]zL ;d"xsf] Pp6} (Common) k|Zgkqsf] 

dfWodaf6 ;+o'Qm / PsLs[t k/LIff ;~rfng x'g]5 . 

&= lnlvt k/LIffdf k|Zg kqx?sf] dfWod efiff g]kfnL jf c+u|]hL cyjf g]kfnL / c+u|]hL b'j} x'g]5 . t/ g]kfn 

k//fi6« ;]jfsf] nflu tflnsf -$_ cg';f/sf] cltl/St kq÷ljifox?sf]] k|Zg kqx?sf] dfWod efiff c+u|]hL 

x'g]5 . 

*= rt'y{ kq P]lR5s ljifosf] lnlvt k/LIffdf k|Zg kqx?sf] dfWod efiff lgDg ljifox?sf] xsdf g]kfnL / 

c+u|]hL b'j} x'g]5 .  

S. No. ljifo (Subject) S. No. ljifo (Subject) 

001 Account & Finance 013 Political Science 

004 Economics 014 Population studies 

005 Education 015 Public Administration 

010 Law 016 Sociology & Anthropology 

(= rt'y{ kq P]lR5s ljifosf] lnlvt k/LIffdf k|Zg kqx?sf] dfWod efiff lgDg ljifox?sf] xsdf c+u|]hL dfq 

x'g]5{ .  

S. No. ljifo (Subject) S. No. ljifo (Subject) 

002 Agriculture 009 Health science 

003 Botany 011 Microbiology 

006 Engineering 012 Physics 

007 Environmental science 017 Zoology 

008 Forestry 018
+
 Chemistry 
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!)= lnlvt k/LIffsf] dfWod efiff g]kfnL jf c+u|]hL cyjf g]kfnL / c+u|]hL b'j} x'g]5 . t/ g]kfn k//fi6« 

;]jfsf] nflu tflnsf -$_ cg';f/sf] cltl/St kq÷ljifox?sf] k/LIffsf] dfWod efiff c+u|]hL x'g]5 . 

!!= j:t'ut ax'j}slNks (Multiple Choice) k|Zgx?sf] unt pQ/ lbPdf k|To]s unt pQ/ afkt @) k|ltzt 

cÍ s§f ul/g]5 . t/ pQ/ glbPdf To; afkt cÍ lbOg] 5}g / cÍ s§f klg ul/g] 5}g . 

!@= ax'j}slNks k|Zgx? x'g] k/LIffdf s'g} k|sf/sf] SofNs'n]6/ (Calculator) k|of]u ug{ kfOg] 5}g . 

!#= ljifout k|Zgsf nflu tf]lsPsf !) cÍsf k|Zgx?sf] xsdf !) cÍsf]  Pp6f nfdf] k|Zg jf  Pp6} 

k|Zgsf b'O{ jf b'O{ eGbf a9L efu -Two or more parts of a single question_ jf Pp6f k|Zg cGtu{t 

b'O{ jf a9L l6Kk0fLx? -Short notes_ ;f]Wg ;lsg] 5 .  

!$= k/LIffdf ;f]lwg] k|Zg;+Vof, cÍ / cÍef/ oyf;Dej ;DalGwt kq÷ljifodf lbO{P cg';f/ x''g]5 . 

!%= ljifout k|Zg x'g] kq÷ljifosf k|To]s efu÷v08÷PsfOsf nflu 5'§f5'§} pQ/k'l:tsfx? x'g]5g\ . 

kl/IffyL{n] k|To]s efu÷v08÷PsfO{sf k|Zgx?sf] pQ/ ;f]xLefu÷v08÷PsfO{sf] pQ/k'l:tsfdf n]Vg'kg]{5 .  

!^= o; kf7\oqmd of]hgf cGtu{tsf kq÷ljifosf ljifoj:t''df h];'s} n]lvPsf] eP tfklg kf7\oqmddf k/]sf 

sfg"g, P]g, lgod tyf gLltx? k/LIffsf] ldlt eGbf # dlxgf cufl8 -;+zf]wg ePsf jf ;+zf]wg eO{ 

x6fO{Psf jf yk u/L ;+zf]wg eO{_ sfod /x]sfnfO{ o; kf7\qmddf k/]sf] ;Demg''' kb{5 . 

!&= k|yd r/0f (First Phase) sf] lnlvt k/LIffaf6 5gf}6 ePsf pDd]bjf/x?nfO{ dfq låtLo r/0f 

(Second Phase) sf] lnlvt k/LIffdf ;lDdlnt u/fOg]5 . 

!*= lnlvt k/LIffsf] k|yd r/0f (First Phase) df k|fKt u/]sf] k|fKtfÍsf] zt\ k|ltzt cÍ tyf låtLo r/0f 

(Second Phase) sf] k|fKtfÍx? hf]l8 s"n cÍsf] cfwf/df lnlvt k/LIffsf] glthf k|sflzt ul/g]5 . 

!(= lnlvt k/LIffdf 5gf}6 ePsf pDd]bjf/x?nfO{ dfq clGtd r/0fsf] ;Lk k/LIf0f, ;fd"lxs k/LIf0f / 

cGtjf{tf{df ;lDdlnt u/fOg]5 . cGtjf{tf{sf] k"0ff{Í km/s x'g]sf] xsdf cGtjf{tf{ km/s km/s x'g]5 .  

@)= lnlvt k/LIff / clGtd r/0fsf] ;Lk k/LIf0f, ;fd"lxs k/LIf0f / cGtjf{tf{sf] s'n cÍ of]usf cfwf/df  

clGtd k/LIffkmn k|sflzt ul/g]5 . 

@!= k/LIff of]hgf / kf7\oqmd nfu" ldlt M— @)^(÷!@÷@( ut]sf] lg0f{o cg';f/ cf=j=@)&)÷)&! b]lv . 

@@= k/LIff of]hgf ;+zf]wg ldlt M— @)&#÷)*÷@) ut]  
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lnlvt k/LIff M– k|yd r/0f (First Phase) 

k|yd kqM– k|zf;lgs cle?lr k/LIf0f (Administrative Aptitude Test) 

Part (A)  

1. ;fdfGo ;r]tgf            %) k|Zg × ! cÍ Ö %) cÍ 

1.1 e"uf]n – g]kfn tyf ljZjsf] ef}lts, ;fdflhs / cfly{s e"uf]n  

1.2 Oltxf;, ;+:s[lt / ;fdflhs Joj:yf   

1.2.1 ljZjsf k|d'v P]ltxfl;s 36gfx? 

1.2.2 g]kfnsf] k|frLgsfn tyf dWosfnsf] /fhgLlts, cfly{s Pj+ ;fdflhs ;f+:s[lts cj:yf  / 

cfw'lgs g]kfnsf] Oltxf; 

1.2.3 g]kfndf nf]stGqsf] nflu ePsf hgcfGbf]ngx? 

1.2.4 g]kfnsf k|rlnt wd{, ;+:s[lt, hfthflt, efiff, ;flxTo / snf 

1.3 zf;gk4lt / zf;g – ;+ljwfg, /fhg}lts Joj:yf, clwsf/df cfwfl/t ;jfn÷ljifox? / g]kfnsf] 

k|zf;lgs Joj:yfsf] ljsf;qmd 

 

1.4 cfly{s ljsf;   

1.4.1 g]kfndf ljsf;sf k"jf{wf/x? -s[lif, pBf]u, Jofkf/, ko{6g, oftfoft, ;+rf/, lzIff, :jf:Yo,  / 

ljB't_  

1.4.2 g]kfnsf] cy{tGq;Fu ;Dj4 of]hgf, ;|f]t÷;fwgx?sf] kl/rfng, j[l4, ljsf; tyf /f]huf/ 

;DaGwL ;jfn÷ljifox?   

1.4.3 g]kfnsf] ljZj;Fusf] cfly{s ultljlwx? 

1.5 lbuf] ljsf;, jftfj/0fLo kfl/l:ylt, kof{j/0fLo ;+/If0f, h}ljs ljljwtf, hnjfo' kl/jt{g, 

hg;+flVosL, Zfx/Ls/0f, a;f]jf;, k|b"if0f, k|fs[lts ;|f]t tyf /fli6«o ;Dkbfx?sf] ;+/If0f ;DaGwL 

;fdfGo ;jfnx?  

1.6 lj1fg / k|ljlw  

1.6.1 k|d'v j}1flgs cGj]if0f / cfljisf/x?, k|l;4 j}1flgs / ltgsf] of]ubfg 

1.6.2 lj1fg / k|ljlwsf] dfgj hLjg / ;dfhdf k/]sf] k|efj 

1.6.3  qmdljsfz, j+zf0f', :jf:Yo / /f]u af/] ;fdfGo hfgsf/L 

1.7 cGt/f{li6«o dfldnf tyf cGt/f{li6«o ;+3÷;+:yf  

1.7.1  ;fs{ ;b:o /fi6«x? tyf rLg, ;+o'Qm /fHo cd]l/sf, ;+o'Qm clw/fHo, ?;, k|mfG;, hd{gL, 

:jLh/Nof8 / hfkfg h:tf d'n'sx?;Fu g]kfnsf] ;DaGw 

1.7.2  ;+o'Qm /fi6«;+3 k|0ffnL, ax'klIfo Joj:yfkg / g]kfn 

 

1.8 /fli6«o / cGt{/fli6«o dxTjsf ;d;fdlos 36gf tyf gjLgtd ultljlwx? M h:t}– /fhgLlts, 

;fdflhs, ;f+:s[lts, cfly{s, j}1flgs,  v]ns"b, k':ts, k'/:sf/, snf, ;flxTo / ;+uLt nufot 

dxTjk"0f{ JolQmTj tyf ljrf/sx?  
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 (In English) 

Paper I: -Administrative Aptitude Test 

Part (A) 

1. General Awareness                  50 × 1= 50 Marks 

1.1 Geography - physical, social and economic geography of Nepal and the World 

1.2 History, Culture and Social System 

1.2.1 Major historical events of the World  

1.2.2 Political, economical and socio-cultural aspects of ancient, medieval and modern 

Nepalese history 

1.2.3 People's Movements for democracy in Nepal 

1.2.4 Prevalent religions, culture, ethnicity, languages, literature and art of Nepal 

1.3 Polity and Governance – constitution, political system, right based issues and evolution of 

the Nepalese Administrative System 

1.4 Economic Development 

1.4.1 Infrastructure development in Nepal (agriculture, industry, trade, tourism, 

transportation, communication, education, health and electricity)  

1.4.2 The Nepalese economic issues relating to planning, mobilization of resources, growth, 

development and employment 

1.4.3 Nepal's economic interaction with the World 

1.5 General Issues on sustainable development, environmental ecology, ecological preservation, 

bio-diversity, climate change, demography, urbanization, settlement, pollution, conservation 

of natural resources and national heritage 

1.6 Science and Technology 

1.6.1 Major scientific discoveries and inventions, famous scientists and their contributions 

1.6.2 Impact of science & technology in human life and society 

1.6.3 General information on evolution, heredity, health and diseases 

1.7 International Affairs and International Institutions  

1.7.1 Nepal's relations with the SAARC member countries and other countries such as 

China, United States of America, United Kingdom, Russia, France, Germany, 

Switzerland and Japan  

1.7.2 UN System, multilateral arrangements and Nepal 

1.8 Major Events and Current Affairs of National and International Importance; such as 

political, social, cultural, economic, scientific, sports, books, prizes/rewards, arts, literature 

and music as well as noted personalities and thinkers 
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Part (B) 

2. Aptitude Test                    30 × 1 = 30 Marks 

2.1 Verbal reasoning such as series, analogy, classification, coding-decoding, insert the missing 

character, common property, matrices, direction and distance sense test, ranking order, 

assertion and reason, induction, deduction, courses of action, etc   6 × 1 = 6 Marks 

2.2 Non-verbal reasoning such as series, analogy, classification, Venn diagrams, matrices, 

construction of squares and triangles, and figure formation and analysis, dot situation, water 

images, mirror images, embedded figures, etc.     6 × 1 = 6 Marks 

2.3 Quantitative aptitude such as arithmetical reasoning / operation, percentage, fraction, decimal, 

ratio, average, loss, profit, date/calendar, time and work, etc.   6 × 1 = 6 Marks 

2.4 General mental ability, logical reasoning and analytical ability   6 × 1 = 6 Marks 

2.5 Data interpretation - charts, graphs, tables, data sufficiency    6 × 1 = 6 Marks 

Part (C) 

3. English Language Competence Test                  20 × 1 = 20 Marks 

3.1 Comprehension:         5 × 1= 5 Marks 

Questions will be asked based on the passage given. The questions will try to accommodate 

the following areas:  

- Fact finding, Inferential, Core theme, True/false identification, Issues raised and 

Language based 

3.2 Vocabulary:          7 × 1 = 7 Marks 

Questions will be asked to assess their grasp on the English language vocabulary. The 

questions will be of the following nature:  

- Meaning of the words (literal /figurative/contextual), Single word for expressions, 

Synonyms/antonyms, Derivatives and Homonyms/homophones 

3.3 Syntactic ability:         8 × 1 = 8 Marks 

Questions will be asked to assess the syntactic ability of the candidates. The questions will be 

based on the following categories: 

- Agreement, Tense aspect, Parallel structures, Clauses, Modifier, Conditionals, 

Phrasal expressions, Shifts (tense, number, person), Transformations, Varieties, 

Prepositions / conjunctions and Parts of speech 

---The end--- 

Note: - This above English Language Competence Test syllabus is devised for assessing the 

proficiency of the English language of candidates. With the view to assess the candidates‘ 

language competence, the syllabus aims:  

 to test the understanding of their language through reading comprehension, 

 to map the range of their vocabulary, 

 to examine their syntactic  ability. 

The nature and standard of questions in English Language Competence Test will be such 

that an educated Class XII level person will be able to answer them without any specialized study. 
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b|i6Jo M–  k|yd kq k|zf;lgs cle?lr k/LIf0fsf] ;fdfGo ;r]tgfsf] Part (A) sf kf7\oqmdsf PsfO{x?af6 

oyf;Dej Level I  sf ^) k|ltzt / Level II sf $) k|ltzt u/L lgDgfg';f/ k|Zgx? ;f]lwg]5 . 

Table of Specification 

 

Unit 

No. 

 

Contents Title 

No. 

of 

items 

Specification 

Remarks Level I 

(60%) 

Level II 

(40%) 

1.1 e"uf]n 6 

14 10 

Level I  sf ^) 

k|ltzt / Level 

II sf $) k|ltzt  

1.2 Oltxf;, ;+:s[lt / ;fdflhs Joj:yf   6 

1.3 zf;gk4lt / zf;g 6 

1.4 cfly{s ljsf;   6 

1.5 lbuf] ljsf;, jftfj/0fLo kfl/l:ylt,==== 6 

16 10 

Level I  sf ^) 

k|ltzt / Level 

II sf $) k|ltzt  

1.6 lj1fg / k|ljlw  6 

1.7 
cGt/f{li6«o dfldnf tyf cGt/f{li6«o 

;+3÷;+:yf  
6 

1.8 
/fli6«o / cGt{/fli6«o dxTjsf ;d;fdlos 

36gf tyf gjLgtd ultljlwx? 
8 

Total 50 30 20  

 

Level I Questions  

-rf/ ljsNkdfq ePsf ;fdfGo ax'j}slNks k|Zgx?_ 

 

Level II Questions  

-rf/ eGbf ljsNk al9 ljsNk x'g ;Sg] t/ rf/ ljsNkdfq k|bfg ul/Psf ax'j}slNks :j?ksf t/ l7s‐a]l7s, 

hf]8fldnfpg], vfln 7fpF eg]{, sf/0f / k|efj ;DaGw k|Zgx?, gldNbf] 5'§\Øfpg] k|Zgx?_ 

 

k|yd kqM ;fdfGo ;r]tgfsf gd'gf k|Zgx? 

 Sample Questions: Paper I  

 Part A - General Awareness 

Level I questions 

1. lgDg dWo]df Jofkfl/s jfo' (Trade winds) sxfF kfOG5 < 

A) o'/f]k dfly  

B) s]k ckm u"8 xf]k df    

C) c6\nflG6s dxf;fu/ (Atlantic Ocean) df 

D) cogd08n (Tropics) aLr / e"dWo /]vf (Equator) df  

Where does the Trade wind exist amongst the following? 

A) Above Europe 

B) In the Cape of Good Hope    

C) In the Atlantic Ocean 

D) Between Tropics and in the Equator 

 

2. dWosfndf ag]sf sf7sf w]/} d"lt{x?=============sf] sfi7snf ;+u|xfnodf ;+/lIft 5g\ . 

Many of the wooden idols, made in the middle age have been conserved in the Wooden Museum 

of ...... 

A) kf6g (Patan) B) sf7df8f}+ (Kathmandu)    C) eQmk'/ (Bhaktapur) D) sLlt{k'/ (Kirtipur) 
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3. s'g hnjfoljs k|b]zdf Go"gtd tfk leGgtf e]l6G5 < 

A) e"dWo k|b]z B) dg;"g k|b]z  C)_ pi0f k|b]z  D) e"dWo ;fu/Lo 

In which climate zone does the minimum difference in temperature exist? 

A) Equator Zone B) Monsoon Zone  C) Tropical Zone  D) Equator Ocean 

 

4. g]kfndf lhNnf l:yt k|zf;lgs ;+/rgfdf df}hf, k|uGgf / lhNnf eGg] tLg tx s'g sfndf lyof] < 

A) k~rfot sfn  B) /f0ff sfn  C) lnR5jL sfn  D) dNnsfn 

In which period there were the three levels of district administration i.e., Mauja, Praganna and 

Jilla, existed in Nepal? 

A) Panchayat Period B) Rana period C) Lichhavi period  D) Malla Period 

 

5. ;"o{sf] cjnf]sg ug{ ;lsg] oGqnfO{ s] elgG5 < 

 A) x]lnof]u|fkmL  B) 6]ln:sf]k C) x]ln:sf]k  D) 6]lnu|fkmL 

What is the name of the instrument through which sun can be observed? 

A) Heliography  B) Telescope  C) Helescope  D) Telegraphy 

 

Level II questions 

6. tnsf sygx? 7Ls, unt s] x'g 5'6\ofpg' xf];\ < 

1. g]kfnsf] df}lns z}nL dflgg] Kofuf]8f z}nLsf dlGb/ lgdf{0fdf O{+6f / sf7sf] k|of]u x'G5 .  

2. ysfnL ;d'bfodf kfOg] l9s'/ k|yf Pp6f k/Dk/fut gfrufg ug]{ 3/ xf] .    

A) 1 / 2 b'j} 7Ls   B)  1 / 2 b'j} unt  

C) 1 7Ls t/ 2 unt  D)  1 unt t/ 2 7Ls 

Find out whether the following statements are right or wrong? 

1. Bricks and wood are used in the construction of the Pagoda style temple which is rendered as 

the original style in Nepal. 

2. Dhikur system, prevailing in the Thakali community, is a house for performing traditional dance. 

A) Both 1 and 2 are right   B) Both 1 and 2 are wrong  

C) 1 is right but 2 is wrong  D) 1 is wrong but 2 is right 

 

7. ;d"x I / II df hf]8f ldnfpg'xf];\ / sf]8af6 ;xL pQ/ 5fGg'xf];\ .  

Match Group I with Group II and choose the correct answer from the code. 

   ;d"x (Group) I ;d"x (Group) II 

  a)  Aristotle     1. Theory of surplus value 

 b)   Socrates     2. The politics 

 c)   Abraham Lincoln  3. Hemlock 

 d)   Karl Marx  4. Slavery System 

  sf]8 (Code) 

 a b c d 

 A) 4        1          2          3 

 B) 3        4          1          2 

 C) 2        3          4          1 

 D) 1        2          3          4 
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8. tn lbOPsf] k|Zgdf b'O{ j6f :6]6d]06 pNn]v ul/Psf] 5 klxnf]nfO{ egfO{ (Assertion) / csf]{nfO{ sf/0f 

(Reason) elgPsf] 5 . k|Zgdf lbOPsf] Statement af/] lgDg sf]8x?sf] cfwf/df 7Ls pQ/ /f]]Hg'xf];\ . 

egfO{ (A) M—  lkt[Tj 7]ufg nufpg tyf xTof anfTsf/, d'2fdf ck/fwL kQf nufpg DNA Finger Printing 

Pp6f ljZj;gLo ;fwg ag]sf]5 . 

sf/0f (R) M— df}sf txsLsftdf k|fKt /f}+, y's, jLo{ cflb k|df0fhGo cjz]ifx? DNA Analysis sf nflu 

kof{Kt x'G5g\ . 

A) egfO{ (A) / sf/0f (R) b'a} 7Ls 5g\ / sf/0f (R) egfO{ (A) sf] 7Ls JofVof (explanation) xf] 

B) egfO{ (A) / sf/0f (R) b'a} 7Ls 5g\ / sf/0f (R) egfO{ (A) sf] 7Ls JofVof (explanation) xf]Og\  

C) egfO{ (A) 7Ls 5 t/ sf/0f (R) unt 5 

D) egfO{ (A) unt 5 t/ sf/0f (R) 7Ls 5 

 

In the following question, two statements are given, the first one is called ‗Assertion‘ and another 

is called ‗Reason‖. Regarding the Statement given in the question, choose the right answer on the 

basis of the following codes. 

 

Assertion A: DNA finger printing has been a reliable means to find out the criminals determining 

paternity, murder and rape. 

Reason (R): Remaining evidence such as hair, saliva, sperm, etc, found during the spot 

investigation, are sufficient for DNA analysis. 

 

A) Both the 'Assertion' and 'Reason' are right and the 'Reason' is the correct explanation of the 

'Assertion'. 

B) Both the 'Assertion' and the 'Reason' are right and the 'Reason' is not the correct explanation 

of the 'Assertion'. 

C) 'Assertion' is right but the 'Reason' is wrong. 

D) 'Assertion' is wrong but the 'Reason' is right. 

 

9. tn plNnlvt dxf;lGwx?df g]kfn kIf ePsf] 5 . 

1. afn clwsf/ ;DaGwL dxf;lGw    

2. dlxnf lj?4 x'g] ;a} k|sf/sf e]befj pGd"ng ;DaGwL dxf;lGw 

3. oftgf tyf cGo s|'/ cdfgjLo of ckdfghgs Jojxf/ jf b08 lj?4sf] dxf;lGw  

4. bf;Tj dxf;lGw 

pk/f]Qm dxf;lGw nfu" ePsf] ldltsf] cfwf/df tnsf dWo] s'g qmd ;xL 5 < 

Nepal has been the party in the following conventions. 

1. Convention on Child Rights   

2. Convention on the Elimination of all forms of Discrimination Against Women  

3. Convention against tortures and other severe inhuman or abusive behaviors or penalties. 

4. Convention against slavery. 

Which of the following order, on the basis of the date of the ratification is right? 

 

 A)  4 – 3 – 2 – 1 B) 4 – 2 – 3 – 1 C) 2 – 3 – 4 – 1 D) 1 – 2 – 3 – 4 
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10. If]qkmnsf cfwf/df ;fgf]af6 7"nf] ;fs{ /fi6«x¿sf] qmd s'g ;xL xf] < 

A)  dflNbE;, e'6fg, g]kfn, >Ln+sf, kfls:tfg, a+unfb]z, ckmuflg:tfg, ef/t 

B)   e'6fg, dflNbE;, g]kfn, >Ln+sf, a+unfb]z, ckmuflg:tfg, kfls:tfg, ef/t 

C)   dflNbE;, e'6fg, >Ln+sf, g]kfn, ckmuflg:tfg, a+unfb]z, kfls:tfg, ef/t 

D)   dflNbE;, e'6fg, >Ln+sf, a+unfb]z, g]kfn, ckmuflg:tfg, kfls:tfg, ef/t 

Considering the area of the SAARC nations, which of the following is the right order of those 

nations, from the smallest to the largest? 

A)  Maldives, Bhutan, Nepal, Srilanka, Pakistan, Bangladesh, Afghanistan, India 

B)   Bhutan, Maldives, Nepal, Srilanka, Bangladesh, Afghanistan, Pakistan and India 

C)   Maldives, Bhutan, Srilanka, Nepal, Afghanistan, Bangladesh, Pakistan, India 

D)   Maldives, Bhutan, Srilanka, Bangladesh, Nepal Afghanistan, Pakistan, India. 

 

11. hf]8f ldnfgdf (Matchings) tnsf] s'g rfFlx 7Ls 5 < 

Matching Group I with Group II, which of the following is correct? 

  ;d"x(Group) I ;d"x (Group) II 

a) clk|msf (Africa)  

b) o'/f]k (Europe) 

c) ;efgf (Savana)   

d) kfld/ (Pamir) 

1. ljifdtfsf] dxfb]z (Continent of Extremes) 

2. cFWof/f] dxfb]z (Dark continent) 

3. ;+;f/sf] 5fgf] (Roof of the world)   

4. ;+;f/sf] lrl8ofvfgf (Zoo of the world) 

5. k|foåLkx¿sf] klg k|foåLk (Peninsula of Peninsulas)   

 

A)  a-2, b-1, c-3, d-5   B)  a-1, b-5, c-4, d-3  

C)  a-2, b-5, c-4, d-3   D)  a-1, b-5, c-3, d-4 

 

12. lgDglnlvt sygx? af/]df ljrf/ ug'{xf];\ M  

1. k[YjL k"j{af6 klZrdlt/ 3'D5 .  

2. k[YjL klZrdaf6 k"j{lt/ 3'D5 .  

3. e"dWo /]vfdf ;a}eGbf a9L udL{ x'G5 .  

4. k|To]s ! l8u|L b]zfGt/df $ ldg]6sf] ;do km/s k5{ . 

 dfly plNnlvt sygx?df s'g l7s xf]÷ x'g\ <  

A) 1, 2  / 3 dfq  B) 2 dfq  

C) 2, 3 / 4 dfq  D)  2 / 3 dfq 

Think about the following statements:  

1. The earth moves from east to west.  

2. The earth moves from west to east.  

3. The Equator is the hottest.  

4. In each 1 degree longitude, the time different by four minutes. 

 Which of the above mentioned statements, is /are correct? 

A) Only 1, 2, and 3  B) Only 2 

C) Only 2, 3 and 4  D) Only 2 and 3 
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13. lgDglnlvt sygx? dWo] s'g syg 7Ls xf]Og, 5fGg'xf];\ . 

A) DofUgfsf6f{nfO{ dfgjclwsf/ ljsf;sf] k|frLg b:tfj]h dflgG5 . 

B) cf}Bf]lus qmflGtsf] ;'?jft O6fnLaf6 ePsf] lyof] . 

C) k|mfG;sf] /fHoqmflGtnfO{ af}l4s qmflGt klg elgG5 . 

D) ef/tLo :jtGqtf cfGbf]ngdf ;g\ !(!(–!($& ;Ddsf] cjlwnfO{ ufGwL o'u eg]/ klg lrlgG5 .  

 

Choose the statement which is not correct among the following: 

A) Magnacarta is rendered as the ancient document of human right development 

B) Industrial revolution was started from Italy. 

C) The state Revolution of France is also called Intellectual Revolution. 

D) In the context of the Indian Independence Movement, the period from 1919 A.D. to 1947 

A.D. is also known as the Gandhi Age. 

 

14. ;fs{ /fi6«df /x]sf lgDglnlvt If]qLo s]Gb|x¿sf] t'ngf u/L ;xL pQ/ sf]8af6 5fGg'xf];\ . 

Comparing the following Regional Centers established in the SAARC nations; choose the correct 

answer from the code. 

 

 

/fi6« (Country) If]qLo s]Gb (Regional Centre) 

1. g]kfn (Nepal) i) Agricultural Centre (SAC) 

2. a+unfb]z  (Bangladesh) ii) Forestry Centre (SFC) 

3. e'6fg  (Bhutan) iii) Energy Centre (SEC) 

4. kfls:tfg (Pakistan) iv) Tuberculosis Centre (STC) 

  

 sf]8 (Code) 

A) 1-iii,  2-iv,  3-i,  4-ii 

B) 2-i,  3-ii,  4-iii,  1-iv 

C) 3-ii,  4-i,  1-iv,  2-iii 

D) 4-iv,  1-iii,  2-ii,  3-i 
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Part (B) 

Sample Questions of Aptitude Test 

Verbal reasoning 

1. Find out the alternative which will replace the question mark. 

O, T, T, F, F, S, S, E, (?) 

A) E         B) N       C) O         D) T        

2. 'Reading' is related to 'knowledge' in the same way as 'Work' is related to: 

A)  Money        B)   Engagement             C) Employment         D) Experience 

3. In the following find out the alternative which will replace the question mark. 

Parts : Strap :: Wolf : ? 

A)  Fox          B)   Animal          C) Flow          D)     Wood 

4. If TABLET is coded as UACMET in a certain language, then how is CAPSULE written in that 

code? 

A)  BAORUKE    B) DAQTUME       C) BAQRUKE     D)   DAOTUME 

5. Choose the word which is different from the rest. 

A)  Anger      B)   Anxiety      C) Feeling        D)    Joy         

6. The houses of A and B face each other on a road going north-south. A‘s being on the western 

side. A comes out of his house, turns left, travels 5 m, turns right, travels 12 m to the front of D‘s 

house. B does exactly the same and reaches the front of C‘s house. In this context, which one of 

the following statements is correct? 

A) C and D live on the same street. 

B) C‘s house faces south. 

C) The houses of C and D are less than 30 m apart. 

D) None of the above 

7. If the 1st & 2nd , 3rd & 4th , 5th & 6th and so on are interchanged in the A to Z alphabetical 

series. Then what is the fifteenth number? 

A) N   B) O    C) P    D) Q 

Direction: In the following, two statements numbered I and II are given. There may be cause and 

effect relationship between the two statements. These two statements may be the effect of the same 

cause or independent causes. These statements may be independent causes without having any 

relationship. Read both the statements and answer as: 

A)  If statement I is the cause and statement II is its effect 

B)  If statement II is the cause and statement I is its effect 

C)  If both the statements I and II are independent causes  

D)  If both the statements I and II are effects of independent causes 

 

8. Statements: 

I. There has been a high increase in the incidents of atrocities against women in the city during 

the past few months. 

II. The police authority has been unable to nab the culprits who are committing crime against 

women. 
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9. What is missing letter?  

E  C  O  

B  A  B  

G  B  N  

D  B  ?  

 
A) H   B) T    C) K    D) E 

10. In a class of 45 students, a boy is ranked 20th. When two boys joined, his rank was dropped by 

one. What is his new rank from the end? 

A) 25
th

  B) 26
th

   C) 27
th

   D) 28th 

Non-verbal reasoning 

11. Which figure should replace the question mark?  

              
                                                                        A       B       C       D 

12. What would replace the question mark (?) in figure 4. 

Problem figures Answer figures 

  
             1         2          3        4             A         B          C        D 

 

13. What is the total number of triangles in the below grid? 

 
A) 22 B) 23  C) 26   D) 27 

14. Choose the figure which is different from the rest 

 

 

                                                    A          B         C         D 

15. Which of the following diagrams indicates the best relation between Examination, Questions and 

Practice? 

                           

       A    B                        C               D 
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16. Choose the correct water image of the given figure (X) from amongst the four alternatives. 

 
 

17. Complete the figure matrix. 

 

 

 

 

 
   A       B      C       D        

 
18. Which three pieces below, when fitted together, will form a perfect square? 

 

A) WXY   B) XYZ   C) WXY   D) WXZ 

 

19. Find out the alternative figure which contains figure(X) as its part.  

 
     (X)               A         B         C           D 

20. Group the given figures into three classes using each figure only once. 

 

 

A)  1,3,5 ;  2,6,9 ;  4,7,8 

B)  2,3,4 ;  5,6,8 ;  9,1,7 

C)  1,3,5 ;  2,6,8 ;  4,7,9 

D)  3,2,4 ;  6,5,8 ;  7,9,1 
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Quantitative aptitude 

21. What number should come next? 

8, 6, 9, 23, 87 , ... 

A) 174  B) 226   C) 324   D) 429  

 

22. What number should replace the question mark? 

 

A) 463   B) 453   C) 435   D) 47 

 

23. A student on her first 4 tests received an average score of N points. If she exceeds her previous 

average score by 20 points on her fifth test, then what is the average score for the first 5 tests? 

A) N + 20   B) N + 10   C) N + 4   D) N + 5 

24. Find out the wrong number in the given sequence of numbers. 

1, 2, 6, 15, 31, 56, 91  

A) 6  B) 31    C) 56    D) 91 

25. Baglung is located in Western Nepal and some Baglunge (people of Baglung) can speak Nepali 

and some can speak Magar. If 70% of Baglunge speaks Nepali and 60% of Baglunge speaks 

Magar, what is the minimum percentage of Magar speaking Baglunge that also speak Nepali? 

A) 10%  B) 15%  C) 20%  D) 30% 

 

26. Ten teams are participating in a National Football League. If each team plays the other teams 2 

times, the total number of games the League will play is … 

A) 45  B) 55   C) 90   D) 100 

 

27. There are 21 juice bottles out of which 7 bottles are full, 7 are half-full and the remaining 7 are 

empty to be divided amongst 3 friends equally. You don‘t have any measuring device. After 

dividing them (both bottles and juice) equally how much empty bottles each will get?  

A) 0   B) 2    C) 3   D) 4 

28. Two numbers are in the ratio 5:4 and their difference is 10. What is the larger number?  

A) 30   B) 40    C) 50    D) 60  

29. A shopkeeper fills a basket with eggs in a such way that the number of eggs added on each 

successive day is the same as the number already present in the basket. This way the basket gets 

completely filled in 12 days. After how many days the basket was half (1/2) full? 

A) 11  B) 10   C) 9   D) 6 

30. If the seventh day of a month is three days earlier than Friday, what day will it be on the 

sixteenth day of the month?  

A) Sunday  B) Tuesday   C) Thursday   D) Friday  
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General mental ability, logical reasoning and analytical ability 

31. K is heavier than N. M weighs less than N. L is heavier than M but lighter than N. Which of the 

following statements is NOT true? 

A) K weighs more than M.  B) N weighs less than K. 

C) M weighs more than K.  C) M is the lightest of all. 

32. What is the minimum number of different colours required to paint the figure given below such 

that no two adjacent regions have the same colour? 

 
 

A) 2 B) 3  C) 4   D) 6 

33. There are four houses on one side of a city street. Each house belongs to a different person who 

lives in the house. The owners of the houses are A, B, C and D. Each owns one car and the 

colours of these cars are white, red, blue and green. Furthermore: 

1. D owns the white car 

2. B's  house is not at either end of the street 

3. A owns the second house from the left 

4. C owns the blue car 

Which people own the red and the green cars? 

A) B and A B) C and B  C) D and A  D) C and D 

34. A cube has six numbers marked 1, 2, 3, 4, 5 and 6 on its faces. Three views of the cube are 

shown below: 

 
 

What possible numbers can exist on the two faces marked (A) and (B), respectively on the cube? 

 
 

A) 2 and 3  B) 6 and 1  C) 1 and 4  D) 3 and 1 
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35. If D is the brother of B, how B is related to C? To answer this question which of the statements 

is/are necessary? 

1. The son of D is the grandson of C. 

2. B is the sister of D. 

A) Only 1   B) Only 2  C) Either 1 or 2  D) 1 and 2 both are required  

36. Consider the following figure: 

 
In the above figure, triangle represents girls, the square represents sports persons and the circle 

represents coaches. Which portion in the figure represents girls, who are sports persons, but not 

coaches? 

A)   4  B)   2  C)   1  D)   3      

 

Read the following passage and answer the 3 (three) items that follow:  

In a survey regarding a proposed measure to be introduced, 2878 persons took part of which 

1652 were males. 1226 persons voted against the proposal of which 796 were males. 1425 persons 

voted for the proposal. 196 females were undecided. 

 

37. How many females voted for the proposal? 

A) 430    B) 600    

C) 624    D) 640 

38. How many males were undecided? 

A) 31    B) 227    

C) 426    D) 581 

39. How many females were not in favour of the proposal? 

A) 430    B) 496   

C) 586    D) 1226 

 

40. Of the following statements, there are two statements both of which cannot be true but both can 

be false.  Which are these two statements? 

 

1. All machines make noise. 

2. Some machines are noisy. 

3. No machine makes noise. 

4. Some machines are not noisy. 

 

A)  1 and 2    

B)  3 and 4   

C)  1 and 3 

D)  2 and 4 
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Data interpretation 

The following line graph gives the ratio of the amounts of imports to the amount of exports of the 

certain country for the period from 1995 to 2001.  

Ratio of Value of Imports to Exports Over the Years 

 
Using the above graph and answer the next 5 questions. 

41. The imports were minimum proportionate to the exports of the Country in the year?  

A) 1996  B) 1997  C) 2000  D) 2001 

 

42. What was the percentage increase in imports from 1997 to 1998?  

A) 72   B) 56    C) 28    D) Data inadequate  

 

43. If the imports of the country in 1996 was Rs. 272 million, the exports from the country in 1996 

was?  

A) Rs. 370 million  B) Rs. 320 million  C) Rs. 280 million  D) Rs. 275 million  

44. In how many of the given years were the exports more than the imports?  

A) 1 year   B) 2 years   C) 3 years   D) 4 years  

45. The imports were maximum proportionate to the exports of the Country in the year?  

A) 1996  B) 1997  C) 2000  D) 2001 

Study the following table and answer the questions. 

Classification of 100 Students Based on the Marks Obtained by them 

in Paper I and Paper II in an Examination. 

Subject 
Marks out of 50 

40 and above 30 and above 20 and above 10 and above 0 and above 

Paper I 9 32 80 92 100 

Paper II 4 21 66 81 100 

Average (Aggregate) 7 27 73 87 100 
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46. What is the different between the number of students passed with 30 as cut-off marks in Paper-II 

and those passed with 30 as cut-off marks in aggregate? 

A) 3  B) 4   C) 5   D) 6  

47. If at least 60% marks in Paper- I are required for pursuing higher studies in science, how many 

students will be eligible to pursue higher studies in science? 

A) 0  B) 9   C) 18   D) 32  

48. The percentage of number of students getting at least 60% marks in Paper-II over those getting at 

least 40% marks in aggregate, is approximately? 

A) 20%  B) 27%  C) 29%  D) 30%  

49. The number of students scoring less than 40% marks in aggregate is? 

A) 7  B) 13   C) 14   D) 27 

50. If it is known that at least 23 students were eligible for a symposium on Paper-II, then the 

minimum qualifying marks in Paper-II for eligibility to symposium would lie in the range? 

A) Below 20  B) 20 - 30  C) 30 - 40  D) 40 -45 

 

 

Directions for the following 5 (five) items: 

 

Study the two figures given below and answer the five items that follow: 

Figure 1: Number of Professors in selected  

disciplines in a University by sex 
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Figure 2: Age of Physics Professors 

 
51. How many Physics Professors belong to the age group 35 – 44? 

A) 18  B) 16  C) 14  D) 12 

52. Which one of the following disciplines has the highest ratio of males to females? 

A) Physics  B) Mathematics C) Chemistry  D) Economics 

53. What percentage of all Psychology Professors are females? 

A) 40 %  B) 50 %  C) 60 %  D) 70 % 

54. If the number of female Physics professors in the age group 25 – 34 equals 25% of all the 

Physics Professors in that age group, then what is the number of male Physics Professors in the 

age group 25 – 34? 

A) 2  B) 3   C) 6   D) 9 

55. If the Psychology professors in the University constitute 2% of all the professors in the 

University, then what is the number of professors in the University? 

A) 400  B) 500   C) 600   D) 700 

Directions for the following 5 (five) items: 

Study the table given below and answer the five items that follow: 

 
56. Which candidate has secured between 60-65% marks in aggregate? 

A) W  B) X  C) Y   D) Z 

57. Who has obtained the lowest average in aggregate? 

A) W  B) X  C) Y   D) Z 

58. Who has obtained the highest average in aggregate? 

A) W  B) X  C) Y   D) Z 

59. In which paper the lowest marks were obtained by the candidates? 

A) I  B) II  C) III   D) IV 

60. Which candidate has secured the highest percentage in the papers appeared? 

A) W  B) X  C) Y   D) Z 
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Part (C): -  

Sample Questions of English Language Competence Test 

 

 Set 1  

Read the passage below and answer the questions that follow.   

 

Passage I 

Oak and Company 

Richard Mabey 

1 If tree families had family trees the oak would have one of the oldest and grandest of all. 

There are more than 500 different species, and over the last million years they have spread, in 

various shapes and forms, over most of the northern half of the earth. There are mountain oaks, 

swamp oaks, evergreen oaks, weeping oaks, and oaks on windswept cliffs that never reach 

more than two or three feet in height. One kind in Spain has such a spongy bark that it is used 

to make cork, so there are soft oaks, too. But for most of us, oak means just one kind of tree: 

the tough, rugged giant that has played such a part in history and legend, and been so 

important in the woodlands of Europe and North America.  

 

2 Perhaps we have been unfair to other trees, but the forest oaks deserve their fame. They are 

hardy, essay-going, and not all fussy about whether they grow. They can reach a great age—

even a thousand of years, though most are cut down long before this. Their squat trunks and 

twisted branches, looking like clenched wooden muscles, can stand up to the worst kinds of 

weather.  

 

3 On top of all this, timber cut from oaks is as strong and remarkable as the trees themselves. It 

is solid and hard-wearing, as good for furniture as it is for firewood. Before the days of steel 

and concrete it made the frames of houses and ships. If we had to invent a new kind of timber it 

would be hard to think up anything better.  

 

4 Yet it isn‘t just humans who find oaks the most useful of trees. Over the ages a huge number 

of animals and plants have learned to live off—and in—the oaks. It is tempting to say that a 

full-grown oak is like a house, but it is really more like a city—a whole community of 

creatures travelling, working, eating, sleeping, singing, and bringing up young, on every part 

from the topmost spring buds to the dead gash blasted out by a lightening flash.  

 

Comprehension Questions:          (5×1=5) 

Choose the correct alternative. 

1. Which statement is closest to the main idea expressed in the first paragraph? 

A. that there are varieties of oaks  

B. that trees like oaks are family trees 

C. most people think that there is only one type of oak 

D. the best kind of oak is found in Spain 
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2. By giving example of a kind of oak found in Spain, the writer proves— 

A. there are soft oaks 

B. oaks can be useful 

C. cork manufacturing industry depends on oaks 

D. our thinking of oak as  a hard wood is wrong 

 

3. All the statements below are true, except— 

A. there are varieties of oaks 

B. oaks primarily grow in Northern part of the earth 

C. oaks have muscles like human beings  

D. steel is used nowadays as building material for which oaks were used in the past  

 

4. The sentence ―If we had to invent a new kind of timber it would be hard to think up anything 

better‖ means— 

A. We cannot invent a new kind of timber 

B. It is hard to think about a new timber 

C. It is hard to find a better timber than oak 

D. It‘s time that we better think of a new timber than oak  

 

5. Which statement best expresses the idea expressed in paragraph 4? 

A. Animals and birds make homes in oaks 

B. Sometimes lightening strikes oaks 

C. Plants also depend on oaks 

D. Not only humans but also animals and plants find oaks useful  

 

Vocabulary  Questions:          (7×1=7) 

6. The closest meaning of the word ―giant‖ in paragraph 1 is--- 

A. legendary huge humanlike beings 

B. a powerful living being 

C. a being who has history and legend 

D. strong and having a great size  

 

7. The phrase ―stand up to‖ in paragraph 2 means— 

A. Standing erect 

B. Rise to a erect position 

C. Support oneself 

D. Be equally capable in strength and power 

 

8. ―Bring up‖ in paragraph 4 means— 

A. Raise children or babies 

B. Bring something from another place 

C. Come closer to an object 

D. Push something to a higher plane  
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9. The closest opposite meaning of the word ―fussy‖ in paragraph 2 is— 

A. Selective 

B. Choosy 

C. Hard to please 

D. Easy-going  

 

10. Which grammar class (parts of speech) the ―windswept‖ in paragraph 1 belongs to? 

A. Noun 

B. Verb 

C. Adjective 

D. Compound word 

Syntactic Ability  Questions:         (8×1=8) 

Choose the correct alternative. 

11. Which sentence indicates that John earned some money? 

A. John nearly earned $ 100. 

B. John earned nearly $ 100. 

C. Both a and b 

D. None of the above  

 

12. Which sentence is best active version of the sentence ―The computer disk was damaged by 

electric shock‖? 

A. Someone damaged the computer disk. 

B. The computer disk has been damages by the electric shock. 

C. The electric shock damaged the computer disk. 

D. Due to electric shock, the computer disk was damaged.  
 

13. Which one is the correct English expression? 

A. John has been collecting stamps since 1996. 

B. John collected stamps since 1996. 

C. John had collected stamps since 1996. 

D. Since 1996, John was collecting stamps.  
 

14. Which preposition completes the sentence ―I expect a lot of guest ____ Christmas.  

A. in 

B. at 

C. on 

D. for  

15. Which alternative completes the sentence ―Last year, we visited  _______ St. Paul Cathedral in 

Vienna.  

A. that 

B. the 

C. a 

D. none  
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Set 2 - Sample Questions 

Read the passage below and answer the questions that follow.   

Passage I 

Hibernation 

Hibernation is one of the main adaptations that allow certain northern animals to survive long, 

cold winters. Hibernation is like a very deep sleep that allows animals to save their energy 

when there is little or no food available. The body functions of ‗true hibernators‘ go through 

several changes while they are hibernating. Body temperature drops, and the heart rate slows. 

For example, a hibernating woodchuck‘s body temperature drops by more than 30 degrees 

Celsius, and its heart rate slows from 80 to 4 beats per minute! Other true hibernators include 

the jumping mouse, little brown bat, eastern chipmunk, and several ground squirrels. Other 

animals, such as the skunk and raccoon, are not considered true hibernators, as they wake up in 

the winter to feed, and their body functions do not change as much. Since they only sleep for a 

little bit at a time, the term dormancy or ‗light sleeping‘ is used to describe their behavior. The 

largest animals to hibernate are bears. Their heart rate may slow down from a usual 40 –50 

beats per minute to 8-12 beats per minute, but their body temperature changes very little, so 

they are able to wake up quickly. 

Hibernating animals have a special substance in the blood called hibernation inducement 

trigger, or HIT. This substance becomes active in the fall, when the days become cooler and 

shorter. When HIT becomes active, the animals start preparing for winter. Some animals store 

food so that they can eat when they wake up, and some animals eat a lot in late summer and 

fall to add excess fat to their bodies. This fat keeps them warmer and acts as a source of energy 

while they are sleeping. Some animals also make changes to the places where they will sleep 

(dens). They add leaves and grasses to keep them warm. 

Questions:            (5×1=5) 

Choose the correct alternative. 

1. Why do animals hibernate?  

A. Animals hibernate to survive long. 

B. Animals hibernate to adapt to the temperature. 

C. Animals hibernate to save energy during the winter when there is little food for them to 

eat. 

D. Animals hibernate to take a deep uninterrupted sleep. 

 

2. What changes occur in the functions of an animal‘s body when it hibernates? 

A. An animal‘s body temperature and its heart beat rise when it is hibernating. 

B. An animal‘s body temperature drops and its heart beat quickens when it is hibernating. 

C. An animal‘s body temperature drops and its heart beat slows when it is hibernating. 

D. An animal‘s body temperature drops and its heart beat remain constant when it is 

hibernating. 
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3. Why are raccoons and skunks not ‗true hibernators‘?  

A. Because they wake up in the winter to eat. Additionally, the changes in the functions of 

their bodies aren‘t as great. 

B. Because they sleep for a little bit of time only. 

C. Because they do not wake up in winter to feed. 

D. Because they feel hungry and get only light sleep. 

 

4. When does HIT become active? 

A. HIT becomes active whenever the days become cooler and shorter. 

B. HIT becomes active when the hibernating animals feel cold and are short of food. 

C. HIT becomes active when winter is in the full swing. 

D. HIT becomes active in the fall, when the days are shorter and the temperature cooler. 

 

5.  How do animals prepare for hibernation?  

A. To prepare for hibernation, animals store food, eat a lot to add excess fat to their bodies 

and add leaves and grasses to their dens to keep them warm while they sleep. 

B. To prepare for hibernation, animals store food and gather leaves and grasses to their dens 

to keep them warm while they sleep. 

C. To prepare for hibernation, animals store food and eat a lot to add excess fat to their 

bodies.  

D. To prepare for hibernation, animals eat a lot to add excess fat to their bodies and add 

leaves and grasses to their dens to keep them warm while they sleep. 

Vocabulary  Questions:          (7×1=7) 

6. One who owns, enjoys and controls anything as property is a  

A. Lyric 

B. Ruler 

C. Possessor 

D. Politician 

7. ―Discolor‖ literally means 

A. To give a wrong impression 

B. To stain 

C. To mix many colors 

D. To displace 

8. What is it to give a formal public speech?  

A. To guzzle 

B. To orate 

C. To proceed 

D. To mumble 

9. If something is not working normally, it is called 

A. Unfunctional 

B. Functional  

C. Dysfunctional 

D. Malfunctional 
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10. ―Darkness‖ does not go together with 

A. Dimness 

B. brightness 

C. drabness 

D. murkiness 

 

Syntactic Ability  Questions:         (8×1=8) 

Choose the correct alternative (the right word, phrase or clause) to complete the following 

conversation. 

11. I have trouble -------------------. 

A. to remember my password 

B. to remembering my password 

C. remembering my password 

D. remember my password 

 

12. The board meeting was held --------------. 

A. at Tuesday 

B. on Tuesday 

C. from Tuesday 

D. in Tuesday 

 

13. They will lose their reputation, --------------. 

A. if they do not replace the damaged product. 

B. if they did not replace the damaged product 

C. if they have replaced the damaged product. 

D. if they are replacing the damaged product. 

 

14. Neither the manager nor the assistants ------------. 

A. knows how the office building caught fire. 

B. know how the office building caught fire. 

C. have known how the office building caught fire. 

D. were knowing how the office building caught fire. 

 

15. They had better ----------. They are becoming weaker and weaker day by day. 

A. Stop smoking  

B. Stopped smoking 

C. stopping to smoke 

D. to stop smoking 
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lnlvt k/LIff M– låtLo r/0f (Second Phase) 
låtLo kqM– zf;g k|0ffnL 

Section (A) - 10 Marks × 3 Questions = 30 Marks 

1. /fHo / zf;g 

1.1 zf;gsf cfwf/e"t kIfx? M cjwf/0ff, ;Gbe{ / ljz]iftfx? 

1.2 zf;gsf] /fhg}lts tyf k|zf;lgs ;+/rgf 

1.3 ;"rgfsf] xs / kf/blz{tf 

1.4 /fi6« lgdf{0f / /fHo lgdf{0f 

1.5 g]kfnsf] zf;g k|0ffnL 

1.6 /fli6«o ;'/Iff Joj:yfkg M cjwf/0ff, If]q / g]kfndf /fli6«o ;'/Iffsf ljBdfg k|fjwfgx? 

1.7 jx':tl/o zf;g / g]kfn M cgf}krfl/s zf;g, gful/s ;dfhsf] zf;g, :yfgLo zf;g, 

;xsf/Ltfd"ns zf;g, Jofj;flos zf;g / ;+o'St /fi6«;+3 

Section (B) - 10 Marks × 2 Questions = 20 Marks 

2. ;+ljwfg / sfg"g  

2.1 ;+ljwfgjfb\ 

2.2 g]kfndf ;+a}wflgs ljsf; 

2.3 g]kfnsf] jt{dfg ;+ljwfg 

2.3.1 d"ne"t ljz]iftfx?, sfo{kflnsf, Joj:yflksf / Gofokflnsf 

2.3.2 df}lns xs, lgb]{zs l;4fGt / /fHosf gLltx? 

2.3.3 ;+a}wflgs tyf sfg"g lgld{t lgsfox?sf] sfo{ Pj+ ltgsf] sfo{If]q 

2.4 dfgj clwsf/ 

2.5 gful/s r]tgf, hgtfsf st{Jo / lhDd]jf/Lx? 

2.6 sfg"gsf >f]tx? Tyf g]kfndf sfg"g lgdf{0fsf] k|lqmof  

2.7 sfg"gsf] zf;g, nf]stflGqs d"No / dfGotf, ;dfj]zLs/0f, ;dfg'kflts k|ltlglwTj tyf ;sf/fTds 

lje]b 

Section (C) - 10 Marks × 3 Questions = 30 Marks 

3. ;fj{hlgs ;]jf tyf ;fj{hlgs Joj:yfkg 

3.1 ;fj{hlgs ;]jfsf] cjwf/0ff, sfo{, ljz]iftf / e"ldsf 

3.2 ;fj{hlgs ;]jf k|jfx 

3.3 /fhg}lts t6:ytf, k|ltj4tf, kf/blz{tf / pQ/bfloTj 

3.4 ;fj{hlgs sf]ifsf] ;b'kof]u, ;bfrf/ / g}ltstf 

3.5 ;fj{hlgs Joj:yfkg, lghfdtL ;]jf / sd{rf/LtGq 

3.6 ;fj{hlgs gLlt M lgdf{0f k|lqmof / ljZn]if0f 

3.7 ;fj{hlgs ;]jf j8fkq 

3.8 ljB'tLo zf;g 

Section (D) - 10 Marks × 2 Questions = 20 Marks 

4. >f]t Joj:yfkg / of]hgf 

4.1 dfgj >f]t Joj:yfkg M k|flKt, ljsf;, pkof]u / ;Def/ 

4.2 ;fj{hlgs ljQ Joj:yfkg M g]kfnsf] of]hgf / ah]6 k|0ffnL 

4.3 g]kfndf ;/sf/L n]vf k|0ffnL / n]vfk/LIf0f k|0ffnL 

4.4 ljQLo Joj:yfkg / ;fdflhs pQ/bfloTj  

4.5 ljsf; of]hgf / rfn" cfjlws of]hgf  

4.6 ;xeflutfd"ns of]hgf / ljsf; 
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(In English) 

Paper II: - Governance Systems 

Section (A) - 10 Marks × 3 Questions = 30 Marks 

1. State and Governance 

1.1 Fundamentals of governance: concept, context and characteristics 

1.2 Political and administrative structures of governance 

1.3 Right to information and transparency  

1.4 Nation building and state building 

1.5 Governance systems in Nepal 

1.6 National security management: concept, scope and existing provisions of national 

security in Nepal 

1.7 Multi-level governance and Nepal: informal governance, civil society governance, 

local governance, cooperative governance, corporate governance and United Nations 

Organization  

Section (B) - 10 Marks × 2 Questions = 20 Marks 

2. Constitution and Law 

2.1 Constitutionalism 

2.2 Constitutional development in Nepal 

2.3 Present constitution of Nepal 

2.3.1 Salient features, executive, legislative and judiciary 

2.3.2 Fundamental rights, directive principles and policies of the State 

2.3.3 Function and jurisdiction of constitutional and statutory bodies 

2.4 Human rights 

2.5 Civic sense,  duties and responsibilities of people  

2.6 Sources of law and law making process in Nepal  

2.7 Rule of law, democratic values and norms, inclusion, proportional representation and 

affirmative action 

Section (C) - 10 Marks × 3 Questions = 30 Marks 

3. Public Service and Public Management 

3.1 Concept, functions, characteristics and role of public service 

3.2 Public Service delivery 

3.3 Political neutrality, commitment, transparency and accountability 

3.4 Utilization of public funds, ethics and morality 

3.5 Public management, civil service and bureaucracy 

3.6 Public policy: formulation process and analysis 

3.7 Public Service Charter  

3.8 E-governance 

Section (D) - 10 Marks × 2 Questions = 20 Marks 

4. Resource Management and Planning 

4.1 Human Resource Management : procurement, development, utilization and 

maintenance 

4.2 Public financial management: planning and budgeting system in Nepal 

4.3 Government accounting and auditing system in Nepal  

4.4 Financial management and social accountability 

4.5 Development planning and current periodic plan 

4.6 Participatory planning and development 

 

---The End--- 
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låtLo kqM– zf;g k|0ffnLx? laifo gd"gf k|Zgx?  

Sample Questions: Paper II- Governance System 

 

Section (A) - 10 Marks × 3 Questions = 30 Marks 

1. zf;gsf] cjwf/0ff :ki6 ub}{ o;sf cfwf/e"t kIf tyf ljz]iftfx? pNn]v ug{'xf];\ . 

Clarifying the concept of governance, mention its fundamental aspects as well as features. 
 

2. ;"rgfsf] xsnfO{ ;'b[9 kfg{df kf/blz{tfn] k'¥ofPsf] of]ubfgsf] rrf{ ub}{ kf/blz{tfsf] ;Ldf pNn]v ug'{xf];\ .  

Discuss the contribution of transparency in strengthening the Right to Information and also 

mention the limitation of transparency. 
 

3. /fli6«o ;'/Iff Joj:yfkgsf] If]q pNn]v ug'{xf];\ . g]kfndf /fli6«o ;'/Iffsf ljBdfg k|fjwfgx?sf] ;+lIfKt 

;dLIff ug'{xf];\ .   

Mention the scope of National Security Management. Briefly comment on the prevailing 

provisions of the national security of Nepal. 
 

Section (B) - 10 Marks × 2 Questions = 20 Marks 

4. sfg'gsf >f]tx? pNn]v ub}{ g]kfndf sfg'g lgdf{0fsf] k|lqmof k|:t't ug'{xf];\ . 

Mentioning the sources of law, present the process of law formulation in Nepal. 
 

5. nf]stflGqs d"No / dfGotf eGgfn] s] a'e\mg'x'G5 < g]kfndf oL d"No / dfGotfx?sf] k|of]u s;/L ePsf] kfpg' 

x'G5 < pNn]v ug'{xf];\ . 

What do you understand by democratic value and norm? How are such values and norms 

practiced in Nepal? Mention.  
 

Section (C) - 10 Marks × 3 Questions = 30 Marks 

6. ;fj{hlgs ;]jfsf] cjwf/0f pNn]v ug'{xf];\ . ;fj{hlgs ;]jf k|jfxnfO{ k|efjsf/L t'Nofpg /fhg}lts t6:ytf, 

k|ltj4tf, kf/blz{tf / pQ/bfloTjsf] 7"nf] e"ldsf x'G5 eGg] egfOsf ;Gbe{df cfˆgf] wf/0ff k|i6 kfg'{xf];\ . 

Mention the concept of public service delivery. State your own view in the context of the saying 

that there is the vital role of political neutrality, commitment, transparency and accountability to 

make public service delivery effective. 
 

7. ;fj{hlgs Joj:yfkgsf k|d'v sfo{x? pNn]v ug'{xf];\ .  

Mention the major functions of public management. 
 

8. ;fj{hlgs gLltnfO{ kl/eflift ub}{ ;fj{hlgs gLlt lgdf{0f k|lqmof k|:t't ug'{xf];\ .   

Defining public policy, present the process how public policy is formulated. 
 

Section (D) - 10 Marks × 2 Questions = 20 Marks 

9. dfgj >f]t Joj:yfkgsf k|d'v cfofdx?af/] ;+lIfKt rrf{ ug'{xf];\ . 

Briefly discuss the major dimensions of human resource management. 
 

10. ;xeflutfd"ns of]hgfsf k|d'v ljz]iftfx? pNn]v ub}{ g]kfnsf] ljsf; k|zf;gdf ;xeflutfd"ns of]hgfsf] 

cEof;sf] cj:yf bzf{pg'xf];\ .  

Mentioning the major features of participatory planning, present the status of the practice of 

participatory planning in the development administration of Nepal. 
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t[tLo kqM– ;d;fdlos laifo 

Section (A) - 10 Marks × 3 Questions = 30 Marks 

1. ;fdflhs dfldnfx? 

1.1 ;fdflhs ljjfb tyf åGå 

1.2 ;fdflhs Gofo tyf ;dfgtf 

1.3 ;fdflhs Pj+ ;f+:s[lts ?kfGt/0f 

1.4 >f]t÷;fwgx?sf] ljt/0fdf Gofo M c;dfgtf Pj+ ;LdfGtLs/0f -k|fb]lzs, hfthfltut, n}lËs, 

u|fdL0f tyf zx/L_ 

1.5 ;fdflhs ;+/If0f÷arfp, ;fdflhs ;'/Iff tyf ;fdflhs lhDd]jf/L  

1.6 ;f+:s[lts ljljwtf / ;fdflhs kl/rfng  

1.7 hg;+Vof -a;f]af;, a;fO;/fO, zx/Ls/0f, k|f}9fj:yf, z/0ffyL{, lj:yflkt hg;+Vof_ 

1.8 ;+ul7t ck/fw M laB'tLo ck/fw (cyber crime), a]rljvg, ldnf]dTff] (cartelling)÷ 

Psflwsf/(monopoly), cftÍjfb, e|i6frf/ / cj}w d'b|f lgd{nLs/0f 

1.9 vfB ;Dk|e'tf / ;'/Iff 

 

Section (B) - 10 Marks × 2 Questions = 20 Marks 

 

2. cfly{s dfldnfx? 

2.1 cfly{s a[l4 tyf cfly{s ljsf; 

2.2 cfly{s ljsf;sf k|d'v kIfx? M s[lif, pBf]u, Jofkf/, ko{6g, j}b]lzs /f]huf/ tyf dfgj ;+zfwg 

2.3 cfly{s ljsf;df ;fj{hlgs If]q, lghL If]q / ;xsf/L If]qsf] e"ldsf  

2.4 j}b]lzs ;xfotf / cGt/f{li6«o ;xof]u 

2.5 j}b]lzs nufgLM kf]6{kmf]lnof] / k|ToIf 

2.6 k|ljlw x:tfGt/0f -af}l4s ;DklQ clwsf/ ;d]t_   

2.7 Jofkf/, ahf/ / >d pbfl/s/0f 

2.8 cfly{s s'6gLlt 

2.9 ul/jL / j]/fhuf/L 

 

Section (C) - 10 Marks × 3 Questions = 30 Marks 

3. ljsf;;Fu ;Da4 dfldnfx? 

3.1 dfgj ljsf; 

3.2 k"jf{wf/ ljsf; 

3.3 lbuf] ljsf; -e"ld, hn tyf k|fs[lts >f]tx? M wfGg ;Sg] Ifdtf / ljsf; gLlt_ 

3.4 ljsf; k|lqmofdf /fHo / /fHo afx]ssf If]qx?sf] e"ldsf 

3.5 zflGt / åGå ;Da]bgzLn ljsf; 

3.6 ljs]Gb|Ls/0f tyf :yfgLo :jfoQ zf;g 

3.7 ljsf;df gful/ssf] ;+nUgtf 

3.8 ;fem]bf/L ljsf; tyf ;d'bfodf cfwfl/t ljsf; 

3.9 ljsf;df ;"rgf–;~rf/ k|ljlwsf] e"ldsf 

3.10 ljZjJofkLs/0f / ljsf; 
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Section (D) - 10 Marks × 2 Questions = 20 Marks 

4. jftfj/0f;Fu ;Da4 dfldnfx? 

4.1 kfl/l:ylts k|0ffnL 

4.2 h}ljs ljljwtf tyf ;+/If0f 

4.3 hnjfo' kl/jt{g / sfj{g Jofkf/ 

4.4 jftfj/0fLo x|f; 

4.5 jgljgf; 

4.6 ;+s6÷ljkb\ Joj:yfkg 

4.7 jftfj/0f / ljsf; 

4.8 phf{ ;+s6 tyf phf{ ;+/If0f 

4.9 k|b"if0f tyf kmf]x/–d}nf Joj:yfkg 

==== ;dfKt ==== 

 

(In English) 

Paper III: - Contemporary Issues 

Section (A) - 10 Marks × 3 Questions = 30 Marks 

1. Social issues 

1.1 Social disputes and conflict 

1.2 Social justice and equality 

1.3 Social and cultural transformation 

1.4 Distributive justice of resources: disparities and marginalization (regional, 

caste/ethnicity, gender, rural and urban) 

1.5 Social protection, social security and social responsibility 

1.6 Cultural diversity and social mobilization 

1.7 Population (settlement, migration, urbanization, aging, refugee, displaced population) 
1.8 Organized crime: cyber crime, trafficking, cartelling/monopoly, terrorism, corruption and 

money laundering 

1.9 Food sovereignty and security 

 

Section (B) - 10 Marks × 2 Questions = 20 Marks 

2. Economic issues 

2.1 Economic growth and economic development 

2.2 Major aspects of economic development: agriculture, industry, trade, tourism, foreign 

employment and human resource 

2.3 Role of public sector, private sector and cooperative in economic development 

2.4 Foreign assistance and international co-operation 

2.5 Foreign Investment: portfolio and direct 

2.6 Technology transfer including intellectual property rights 

2.7 Trade, market and labour liberalization 
2.8 Economic diplomacy 

2.9 Poverty and unemployment 
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Section (C) - 10 Marks × 3 Questions = 30 Marks 

3. Developmental Issues  

3.1 Human development 

3.2 Infrastructure development 

3.3 Sustainable development (land, water and natural resources: carrying capacity and 

development policy) 

3.4 Role of state and non-state actors in development process 

3.5 Peace and conflict sensitive development 

3.6 Decentralization and local self-governance 

3.7 Citizen engagement in development 

3.8 Partnership development and community based  development 

3.9 Role of Information and Communication Technology (ICT) in development 

3.10 Globalization and development 

 

 

Section (D) - 10 Marks × 2 Questions = 20 Marks 

4. Environmental Issues 

4.1 Ecosystem 

4.2 Bio-diversity and conservation 

4.3 Climate change and carbon trade 

4.4 Environment degradation 

4.5 Deforestation 

4.6 Crisis/Disaster management 

4.7 Environment and development 

4.8 Energy crisis and energy conservation 

4.9 Pollution and waste management 

 

---The End--- 
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t[tLo kqM– ;d;fdlos laifo gd"gf k|Zgx?  

Sample Questions: Paper III- Contemporary Issues 

 

Section (A) - 10 Marks × 3 Questions = 30 Marks 

1. åGån] ;fdflhs Pj+ ;f:s[lts ?kfGt/0fdf kfg]{ ;sf/fTds tyf gsf/fTds k|efjx? pNn]v ug'{xf];\ . 

Mention the positive and negative effects of conflict in social and cultural transformation? 
 

2. æe|i6frf/ ;fdflhs Gofo tyf ;dfgtfsf] dxfg zq' xf] .Æ o; egfOk|ltsf ] cfˆgf] wf/0ff k|i6 kfg'{xf];\ . 

"Corruption is the great enemy of social justice and equality". Clearly present your view in this 

regard. 
 

3. ævfB ;Dk|e'tfÆ sf] cjwf/0ff :ki6 kfb}{ ljsf;f]Gd'v d'n'sdf vfB kbfy{sf] :j:y / ;xh cfk"lt{df b]lvPsf 

k|d'v Jojwfgx? pNn]v ug'{xf];\ . 

Clearly spell out the concept of "food sovereignty", and also mention the major hindrances of the 

healthy and convenient supply of food materials in developing countries. 

Section (B) - 10 Marks × 2 Questions = 20 Marks 

4. ljsf];f]Gd'v d'n'sx?sf] cfly{s ljsf;df ;xsf/L If]qsf] e"ldsf jf/] ljj]rgf ug'{xf];\ . 

Discuss the role of the co-operative sector in the economic development of developing nations. 
 

5. ul/jL / j]/f]huf/LjLrsf] cGt/;DjGw k|i6\ofpb} oL b'j}sf] Go"gLs/0fsf k|efjsf/L pkfox? pNn]v ug'{xf];\ .  

Clearly present the interrelationship between poverty and unemployment and suggest the 

effective measures for minimizing both of them. 

Section (C) - 10 Marks × 3 Questions = 30 Marks 

6. dfgj ljsf;sf ;"rsfÍx? pNn]v ug'{xf];\ . ;fy} ;fdflhs cfly{s ljsf;sf] ;fwg / ;fWo dfgj g} xf] eGg] 

egfOnfO{ k'li6 ug'{xf];\ . 

Write down the human development indicators and also justify that human is both the means and 

ends of the social- economic development. 
 

7. zflGt / åGå ;Dj]bgzLn ljsf;sf cfwf/e"t tTjx?sf] ;+lIfKt ljj]rgf ug'{xf];\ . 

Briefly discuss the fundamental elements of peace and conflict sensitive development. 
 

8. ;d'bfodf cfwfl/t ljsf;sf k|d'v ljz]iftfx? cfF}NofpFb} u|fdL0f ljsf;df o;k|sf/sf] ljsf;sf] cf}lrTo 

pNn]v ug'{xf];\ . 

Identifying the main characteristics of community based development, justify the rationale of 

such kind of development in rural development. 

Section (D) - 10 Marks × 2 Questions = 20 Marks 

9. jftfj/0fLo x|f;sf k|d'v sf/sx? cfF}NofpFb} ltgsf] lgoGq0fsf k|efjsf/L pkfox? pNn]v ug'{xf];\ . 

Identify the major factors responsible for environmental degradation and also mention the 

effective measures for their control. 
 

10. ljkb\ Joj:yfkgsf] cy{ pNn]v ug{xf];\ . ljkb\ Joj:yfkgnfO{ k|efjsf/L agfpg s'gs'g kIfx?df Wofg 

k'¥ofpg' kg]{ 7fGg'x'G5 < cfˆgf] wf/0f n]Vg'xf]; \ . 

Mention the meaning of disaster management. In your opinion, what factors should be taken in 

consideration to make disaster management effective? 
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P]lR5s ljifox?sf] ;"rL (List of Optional Papers) 

S. 

No. ljifo (Subject) 
S. 

No. ljifo (Subject) 
S. 

No. ljifo (Subject) 

001 Account & Finance 007 Environmental science 013 Political Science 

002 Agriculture 008 Forestry 014 Population studies 

003 Botany 009 Health science 015 Public Administration 

004 Economics 010 Law 016 Sociology & Anthropology 

005 Education 011 Microbiology 017 Zoology 

006 Engineering 012 Physics 018 Chemistry 

 

 P]lR5s ljifo dfly tflnsfdf lbOPsf dWo] h'g;'s} Ps ljifo 5gf}6 ug{ ;lsg]5 . pDd]bjf/n] kmf/fd 

ebf{ kmf/fddf lglb{i6 ul/Psf] 7fpFx?df cfk"mn] k/LIff lbg] P]lR5s ljifo clgjfo{ ?kdf pNn]v ug'{ kg]{5 

. 

 rt'y{ kq P]lR5s ljifosf] lnlvt k/LIffdf k|Zg kqx?sf] dfWod efiff lgDg ljifox?sf] xsdf g]kfnL / 

c+u|]hL b'j} x'g]5 .  

S. No. ljifo (Subject) S. No. ljifo (Subject) 

001 Account & Finance 013 Political Science 

004 Economics 014 Population studies 

005 Education 015 Public Administration 

010 Law 016 Sociology & Anthropology 

 

 rt'y{ kq P]lR5s ljifosf] lnlvt k/LIffdf k|Zg kqx?sf] dfWod efiff lgDg ljifox?sf] xsdf c+u|]hL dfq 

x'g]5{ .  

S. No. ljifo (Subject) S. No. ljifo (Subject) 

002 Agriculture 009 Health science 

003 Botany 011 Microbiology 

006 Engineering 012 Physics 

007 Environmental science 017 Zoology 

008 Forestry 018 Chemistry 
 

 j:t'ut ax'j}slNks (Multiple Choice) k|Zgx?sf] unt pQ/ lbPdf k|To]s unt pQ/ afkt @) k|ltzt 

cÍ s§f ul/g]5 . t/ pQ/ glbPdf To; afkt cÍ lbOg] 5}g / cÍ s§f klg ul/g] 5}g . 

 ax'j}slNks k|Zgx? x'g] k/LIffdf s'g} k|sf/sf] SofNs'n]6/ (Calculator) k|of]u ug{ kfOg] 5}g . 
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-g]kfn Gofo ;]jfsf] nflu dfq yk kq_ 

  kq ÷ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

Gofo yk kq M  

;d;fdlos sfg"g tyf cEof; 

(Contemporary Law & Practices)  

100 40 
ljifout 

(Subjective) 

 

* k|Zg x !)cÍ 

$ k|Zg x % cÍ  

# 306f 

              

g]kfn Gofo ;]jffsf] nflu dfly plNnlvt cltl/St kq÷ljifo pDd]bjf/n] kmf/fd ebf{ kmf/fddf lglb{i6 ul/Psf] 

7fpFx?df clgjfo{ ?kdf pNn]v ug'{ kg]{5 . 

;d;fdlos sfg"g tyf cEof; (Contemporary Law & Practices ) 

v08 -A_ – @% cÍ  

1. sfg"g tyf Gofo ;DaGwL ;d;fdlos ljifo 

1.1 ;+ljwfg / ;+ljwfgjfb 

1.2 kmf}Hbf/L tyf b]jfgL ;+lxtfsf cfwf/e"t kIfx? 

1.3 Dffgj clwsf/ / cGt/f{li6«o sfg"gsf] cjwf/0ff 

1.4 e|i6frf/, ;+ul7t ck/fw / ;DklQ z'4Ls/0f ;DaGwL 

1.5 Goflos ;lqmotf / ;fj{hlgs ;/f]sf/sf] ljifo 

1.6 ljjfb ;dfwfgsf j}slNks pkfox? -d]nldnfk ;DaGwL sfg"gL Joj:yf / k|of]u ;d]t_ 

1.7 jftfj/0fLo Gofosf] cjwf/0ff 

1.8 pkef]Qmf lxt ;+/If0f ;DaGwL  

1.9 n}+lus Gofo / 3/]n' lx+;f  

1.10 kLl8t Gofo k|0ffnLsf] cjwf/0f / k|of]u 

v08 - B_  – @% cÍ    

2. sfg"g th'{df tyf sfg"gsf ljljw kIfx?                 

2.1 P]g, lgod, u7g cfb]z / cWofb]z th'{df Pj+ th'{dfdf ;}4flGts ;xdltsf] cjwf/0ff 

2.2 ;lGw ;Demf}tfsf] lgdf{0f  

2.3 g]kfn /fhkqdf k|sflzt x'g] ;"rgf ;Dkfbg 

2.4 Joj:yfkg ljlw  

2.5 k|Tofof]lht Joj:yfkg 

2.6 af}l4s ;DklQsf] clwsf/ ;DaGwL sfg"gx?  

2.7 s/f/ ;DaGwL sfg"g 

2.8 l/6 lgj]bg tyf lnlvt hjfkm  

2.9 k|zf;lgs lgsfosf] Goflos clwsf/ 

2.10 lghfdtL ;]jf P]g tyf lgodfjnL 
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                                  v08 - C_ – @% cÍ    

3. ;/sf/L jlsn ;DaGwL sfg"gsf ;}¢flGts Pj+ Jojxfl/s laifo 

3.1 dxfGofoflwjQmf ;DaGwL ;+j}wflgs Joj:yf 

3.2 ;/sf/jfbL km}fhbf/L d'2fsf] cg';Gwfg / cleof]hg Pj+ ljleGg k|sf/sf d'r'Nsfx? 

3.3 y'g5]s ;DaGwL k|lqmof / ;fIfL k/LIf0f  

3.4 sfg"gL /fo 

3.5 ;/sf/L d'2fsf] k'g/fj]bg tyf ;/sf/L d'2fsf] k|lt/Iff 

3.6 jx;snf / jx; Joj:yfkg 

3.7 ;/sf/L jlsnsf] Joj;flos cfr/0f 

3.8 ;/sf/L jsLnsf] e"ldsf ;DaGwL ;fs{ d'n's;Fusf] t'ngfTds cWoog 

3.9 ;/sf/L d'2f ;DaGwL P]g tyf lgodfjnL 

3.10 ;/sf/L jlsn lgodfjnL 

                                  v08 - D_  – @% cÍ 

4. cbfntsf sfd sf/jfxL ;DaGwL laifo 

4.1 xsb}of, xbDofb, Dofb / tf/]v  

4.2 cbfntsf] clwsf/ If]q 

4.3 lnvtx?sf] btf{ / b/lk7 

4.4 sf]6{ lkm, w/f}6L / hdfgL  

4.5 aofg, askq, jf/];gfdf / ;sf/gfdf ;DaGwL sfg"gL Joj:yf  

4.6 cGtsf{nLg  cfb]z tyf cGtl/d cfb]z 

4.7 k|df0f k/LIf0f 

4.8 km};nf ;DaGwL ;}4flGts tyf Jojxfl/s 1fg 

4.9 k'g/fj]bg tyf km};nf sfof{Gjog ;DaGwL sfg"gL Joj:yf 

4.10 Gofo k|zf;g P]g tyf Gofo ;]jf cfof]u P]g 

4.11 ;jf]{Rr cbfnt P]g tyf lgodfjnL Pj+ k'g/fj]bg tyf lhNnf cbfnt lgodfjnL 

4.12 g]kfn Gofo ;]jf -u7g, ;d"x, >]0fL ljefhg / lgo'QmL_ lgodx? 

==== ;dfKt ==== 

o;kqsf kf7\oqmdsf v08÷PsfO{x?af6 ;f]lwg] k|Zgx?sf] ;+Vof oyf;Dej lgDgfg';f/ x'g]5 . 

v08÷ cÍef/ A-25cÍ B-25cÍ C-25cÍ D-25cÍ hDdf k|Zg ;+Vof 
5f]6f] pQ/ k|Zg -% cÍ_ 1 1 1 1 4 
nfdf] pQ/ k|Zg -!) cÍ_ 2 2 2 2 8 
hDdf k|Zg ;+Vof 3 3 3 3 12 
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-g]kfn Gofo ;]jfsf] nflu dfq yk kq_ 

;d;fdlos sfg"g tyf cEof; (Contemporary Law & Practices ) sf  

gd'gf k|Zgx? 

 

v08 -A_ – @% cÍ  

1. ;+ljwfgjfb eGgfn] s] a'lemG5 < o;sf cfjZos tTjx? s] s] x'g\ < ;lj:tf/ rrf{ ug'{xf];\ .   -%±%_ 

2. Goflos ;lqmotf eGgfn] a] a'lemG5 < Goflos ;lqmotfdf Goflos;+odtfsf] cfjZostf lsg kb{5 < pbfx/0f 

;lxt j0f{g ug'{xf]; .          -%±%_ 

3. 3/]n' lx+;f -s;"/ / ;hfo_ P]g, @)^^ df ;]jf s]Gb| ;DaGwdf s] s:tf] Joj:yf ul/Psf] 5 < pNn]v ug'{xf]; . 

            -%_ 

v08 -B_ – @% cÍ 

4. sfg"g th'{df eGgfn] s] a'lemG5 < g]kfndf P]g agfpg] Joj:yfkg ljlwsf af/]df k|sfz kfg'xf];\ .  

            -#±&_ 

5. k|ltlnlk clwsf/sf] If]qdf g]kfnn] u/]sf] k|of;sf af/]df pNn]v ub}{ k|ltlnlk clwsf/sf] If]qdf s] s:tf] 

sfg"gL / Joj:yfksLo ;'wf/ cfjZos 7fGg'x'G5 < rrf{ ug'{xf];\ .     -$±^_ 

6. lnlvt hjfkm tof/ ubf{ Wofg lbg' kg]{ d'Vo s'/f s] s] x'g\ < a'Fbfut ?kdf pNn]v ug'{xf];\ .   

            -%_ 

v08 -C_ – @% cÍ 

7. cleof]hg eg]sf] s] xf] < ;/sf/jfbL x'g] d'2fdf cleof]hg ;DjGwL s] s:tf ;+j}wflgs / sfg"gL Joj:yf 

/x]sf 5g\ < ;fGble{s glh/ ;d]tsf cfwf/df ljj]rgf ug'{xf];\ .     -#±$±#_ 

8. y'g5]s cfb]z eGgfn] s] a'lemG5 < y'g5]s cfb]zsf] k|of]hgaf/] rrf{ ub}{ y'g5]s axz Joj:yfkg ;DjGwdf 

;/sf/L jsLnn] Wofg lbg'kg]{ s'/fx? pNn]v ug'{xf];\ .       -#±#±$_ 

9. ;/sf/L jsLnsf] lgikIftf ;DjGwL cfr/0faf/] pNn]v ub}{ o:tf] cfr/0f kfng gug]{ ;/sf/L jsLnnfO{ s] 

s:tf] sf/jfxL x'g ;S5 < ;/sf/L jsLnx?sf] Joj;flos cfrf/;lxtf, @)%* sf cfwf/df n]Vg'xf];\ .   

            -#±@_ 

v08 -D_ – @% cÍ 

10. k'g/fjnf]sg eg]sf] s] xf] < ;jf]{Rr cbfntn] s] s:tf] cj:yfdf cfˆgf] km};nf jf clGtd cfb]zsf] 

k'g/fjnf]sg ug{ ;S5 < k|rlnt sfg"g / ;jf]{Rr cbfntaf6 k|ltkflbt l;4fGt ;d]tsf cfwf/df JofVof 

ug'{xf];\ .            -#±#±$_ 

11. xbDofb, Dofb / tf/Lvdf s] km/s 5 < d'2fdf kIfn] tf/Lv u'hf/]df d'2fsf] sf/jfO{df s] s:tf] c;/ k5{ 

v'nfpg'xf];\ .           -%±%_ 

12. lh/x eg]sf] s] xf] < lh/x ug]{ ;DaGwdf k|rlnt sfg"gdf ePsf] Joj:yf pNn]v ug'{xf];\ .    

            -@±#_ 
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-g]kfn k//fi6« ;]jfsf] nflu dfq yk_  

  kq ÷ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

Extra Paper I:   

c+u|]hL efiff (English Language) 
100 40 ljifout 

(Subjective) 
;DalGwt kf7\oj:t'df 

lbOP cg';f/ 
# 306f              

Extra Paper II:   

k//fi6« gLlt tyf cGt/f{li6«o ;DaGw 

(Foreign Policy & International Relation)  

100 40 
 

ljifout 

(Subjective) 

 

!)k|Zg x !)cÍ 

 

 

# 306f 

g]kfn k//fi6«  ;]jffsf] nflu dfly plNnlvt cltl/St kq÷ljifox? pDd]bjf/n] kmf/fd ebf{ kmf/fddf lglb{i6 

ul/Psf] 7fpFx?df clgjfo{ ?kdf pNn]v ug'{ kg]{5 . 

Extra Paper I: - English Language 

Section (A) - 20 Marks  

1. Composition          20 × 1 = 20 

Essay Writing (The essay must be in about 800 to 1000 words in length.) 

 

Section (B) - 30 Marks  

2. Translate from English into Nepali      15 x 1 =15 

A passage of about 200-250 words written in English on a general topic.  

The question should include instruction to translate the text literally without losing the sense 

and spirit of the original. 

3. Translation from Nepali into English     15 x 1 =15 

A passage of about 200-250 words written in English on a general topic.  

The question should include instruction to translate the text literally without losing the sense 

and spirit of the original. 

Section (C) - 30 Marks  

4. Comprehension         5 x 3 =15 

A passage of about 500 words written in English will be given with 5 questions, each carrying 

3 marks.     

     

5. Précis Writing         15 x 1 =15 

A passage of about 450 -500 words written in English will be given and the examinees will be 

asked to summarize it in 33 percent (one third) of the total length of the passage.  

Section (D) - 20 Marks  

6. Diplomatic Correspondence/Writing      10 x 2 =20 

(Two questions from the following each consisting 10 marks) 

a. Drafting of first person note 

b. Drafting of third person note 

c. Drafting of joint communiqué 

d. Drafting of press statement 

-------- 
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Extra Paper I: English Language 

 

Sample Questions  

1. Write an essay in about 800 to 1000 words in any one of the following issues. The essay 

should reveal candidate’s originality and creativity:   (20) 

 

a. We live in a world besieged by media and technology. Every sector of our life is 

impacted by the presence of modern forms of communication system.  Write an essay 

that discusses the influence of modern forms of communications on everyday life. 

or 

b. Write an essay that discusses how different cultures maintain their distinctive traditions 

in your community. In what ways does this cultural diversity have a positive impact on 

your community? 

or 

c. Diplomacy has been defined as "the management of relations between independent states 

by the process of negotiations.‖  Write an essay citing some major events of modern 

international diplomacy that have resolved conflict through the process of negotiation 

and have shaped the world in which we live. 

 

2. Translate the following text into Nepali without losing the sense and spirit of the original: 

           (15) 

A civilizational paradigm thus sets forth a relatively simple but not too simple map for 

understanding what is going on in the world as the twentieth century ends. No paradigm, 

however, is good for ever. The Cold War model of world politics was useful and relevant for 

forty years but became obsolete in the late 1980s, and at some point the civilizational paradigm 

will suffer a similar fate. For the contemporary period, however, it provides a useful guide for 

distinguishing from what is more important from what is less important. Slightly less than half 

of the forty-eight ethnic conflicts in the world in early 1993, for example, were between groups 

from different civilization. The civilizational perspective would lead the UN Secretary-General 

and the US Secretary of State to concentrate their peacemaking efforts on these conflicts which 

have much greater potential than others to escalate into broader wars. 

Paradigms also generate predictions, and a crucial test of paradigm‘s validity and 

usefulness is the extent to which the predictions derived from it turn out to be more accurate 

than those alternative paradigms. A statist paradigm, for instance, leads John Mearsheimer to 

predict that ―the situation between Ukraine and Russia is ripe for the outbreak of security 

competition between them. Great powers that share a long and common border, like that 

between Russia and Ukraine, often lapse into competition driven by security fears. Russia and 

Ukraine might overcome this dynamic and learn to live together in harmony, but it would be 

unusual if they do.‖  
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3. Translate the following text into English without losing the sense and spirit of the original: 

   

pQ/ sf]l/ofn] blIf0f sf]l/of;Fusf] ;Dk"0f{ zflGt e+u ePsf] 3f]if0ff ub}{ k/df0f' cfqmd0fsf] wDsL lbPsf] 5 . 

rLgn] b'j} d'n's / p;sf ;xof]uLx¿nfO{ zflGt sfod /fVg cfu|x u/]sf] 5 . /fi6«;+3Lo ;'/Iff kl/ifßf 

laxLaf/ cfkm"lj?4 s8f k|ltaGw kfl/t ePkl5 pm yk cfqmf]lzt b]lvPsf] 5 . pQ/ sf]l/ofn] laxLaf/ 

cfkm"dfly hfOnfUg] cd]l/sf jf cGo s'g} /fHodfly kf/df0fljs lgjf/s cfqmd0f -lk|ODkl6e :6«fOs_ ug{ 

;Sg] r]tfjgL lbPsf] lyof] . sf]l/ofsf] ljb]z dGqfnosf k|jQmfn] bf];|f] sf]l/of o'4 6fg{ g;lsg] klg 

r]tfjgL lbPsf lyP . cfpFbf] ;ftf cd]l/sf tyf blIf0f sf]l/ofn] ug]{ elgPsf] a[xt\ ;+o'Qm ;}lgs cEof; 

/f]Sg Kof]ªofªn] u/]sf] cfu|xnfO{ b'j} d'n'sn] c:jLsf/ u/]sf 5g\ . ljutdf p;n] blIf0f sf]l/ofdf /x]sf 

cd]l/sL ;}lgsdfly cfqmd0f ug]{ r]tfjgL lbPsf] lyof] . cd]l/sf tyf blIf0f sf]l/ofnL ;]gfaLr ;f]daf/b]lv 

;}lgs cEof; x'g] ePsf] 5 .       (15) 

      
4. Summarize the passage given below in one third of its total length.   (15) 

Saints should always be judged guilty until they are proved innocent, but the tests that 

have to be applied to them are not, of course, the same in all cases. In Gandhi‘s case the 

questions one feels inclined to ask are: to what extent was Gandhi moved by vanity—by the 

consciousness of himself as a humble, naked old man, sitting on a praying mat and shaking 

empires by sheer spiritual power—and to what extent did he compromise his own principles by 

entering politics, which of their nature are inseparable from coercion and fraud? To give a 

definite answer one would have to study Gandhi‘s acts and writing in immense detail, for his 

whole life was a sort of pilgrimage in which every act was significant. But this partial 

autobiography, which ends in nineteen-twenties, is strong evidence in his favour, all the more 

because it covers what he would have called the unregenerate part of his life and reminds one 

that inside the saint, or near-saint, there was a very shrewd, able person who could, if he had 

chosen, have been a brilliant success as a lawyer, an administrator or perhaps even a business a 

man. 

At about the time when the autobiography first appeared I remember reading its 

opening chapters in the ill-printed pages of some Indian newspaper. They made a good 

impression on me, which Gandhi himself at that time did not. The things that one associated 

with him—home-spun cloth, ‗soul forces‘ and vegetarianism—were unappealing, and his 

medievalist programme was obviously not viable in a backward, starving, over-populated 

country. It was also apparent that the British were making use of him, or thought they were 

making use of him. Strictly speaking, as a Nationalist, he was an enemy, but since in every 

crisis he would exert himself to prevent violence—which, from the British point of view, 

meant preventing any effective action whatsoever—he could be regarded as ‗our man‘. In 

private this was sometimes cynically admitted. The attitude of the Indian millionaires was 

similar. Gandhi called upon them to repent, and naturally they preferred him to the Socialists 

and Communists who, given the chance, would actually have taken their money away. How 

reliable such calculations are in a long run is doubtful; as Gandhi himself says, ‗in the end 

deceivers deceive only themselves‘; but at any rate the gentleness with which he was nearly 

always handled was due partly to the feeling that he was useful. The British Conservatives only 
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became really angry with him when, as in 1942, he was in effect turning his non-violence 

against a different conqueror. 

But I could see even then that the British officials who spoke of him with a mixture of 

amusement and disapproval also genuinely liked and admired him, after a fashion. Nobody 

ever suggested that he was corrupt, or ambitious in any vulgar way, or that anything he did was 

actuated by fear or malice. In judging a man like Gandhi one seems instinctively to apply high 

standards so that some of his virtues pass unnoticed. For instance, it is clear from even the 

autobiography that his natural physical courage was quite outstanding: the manner of his death 

was a later illustration of this, for a public man who attached any value to his skin would have 

been more adequately guarded. Again, he seems to have been quite free from the maniacal 

suspiciousness which E. M. Forster rightly says in A Passage to India, is the besetting Indian 

vice, as hypocrisy is the British vice. 

 

 

5. Read the following passage carefully and answer the questions given below. 5x3=15 

The biggest house of cards, the longest tongue, and of course, the tallest man: these are 

among the thousands of records logged in the famous Guinness Book of Records. Created in 

1955 after a debate concerning Europe's fastest game bird, what began as a marketing tool sold 

to pub landlords to promote Guinness, an Irish drink, became the bestselling copyright title of 

all time (a category that excludes books such as the Bible and the Koran). In time, the book 

would sell 120 million copies in over 100 countries— quite a leap from its humble beginnings.  

In its early years, the book set its sights on satisfying man's innate curiosity about the 

natural world around him. Its two principal fact finders, twins Norris and Ross McWhirter, 

scoured the globe to collect empirical facts. It was their task to find and document aspects of 

life that can be sensed or observed, things that can be quantified or measured. But not just any 

things. They were only interested in superlatives: the biggest and the best. It was during this 

period that some of the hallmark Guinness Records were documented, answering such 

questions as "What is the brightest star?" and "What is the biggest spider?"  

Once aware of the public's thirst for such knowledge, the book's authors began to 

branch out to cover increasingly obscure, little-known facts. They started documenting human 

achievements as well. A forerunner for reality television, the Guinness Book gave people a 

chance to become famous for accomplishing eccentric, often pointless tasks. Records were set 

in 1955 for consuming 24 raw eggs in 14 minutes and in 1981 for the fastest solving of a 

Rubik's Cube (which took a mere 38 seconds). In 1979 a man yodeled non-stop for ten and a 

quarter hours.  

In its latest incarnation, the book has found a new home on the internet. No longer 

restricted to the confines of physical paper, the Guinness World Records website contains 

seemingly innumerable facts concerning such topics as the most powerful combustion engine, 

or the world's longest train. What is striking, however, is that such facts are found sharing a 

page with the record of the heaviest train to be pulled with a beard. While there is no denying 

that each of these facts has its own, individual allure, the latter represents a significant 
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deviation from the education-oriented facts of earlier editions. Perhaps there is useful 

knowledge to be gleaned regarding the tensile strength of a beard, but this seems to cater to an 

audience more interested in seeking entertainment than education.  

Originating as a simple bar book, the Guinness Book of Records has evolved over 

decades to provide insight into the full spectrum of modern life. And although one may be 

more likely now to learn about the widest human mouth than the highest number of casualties 

in a single battle of the Civil War, the Guinness World Records website offers a telling glimpse 

into the future of fact-finding and record-recording.  

Questions  

a) In what ways has Guinness Book of Records undergone change over the time since its 

inception in 1955? 

b) What is the most significant difference between older editions of the Guinness Book of 

Records and the new Guinness World Records website? 

c) What do you mean by empirical and what were the principal fact finders of Guinness 

Book of Records primarily interested in? What makes you call their work empirical? 

d) What do you think is the major shift in focus of Guinness Book of Records since its origin 

as a bar book to a source book giving insights into the full array of world and modern 

life? 

e) Why do you think Guinness Book of Records has been consulted by people not only for 

getting information and knowledge, but also for seeking entertainment?  

 
6. Answer the following questions:       10x2=20 

a) Your country has diplomatic relation with many countries. Now, one of your neighboring 

countries is celebrating the 50th year of its independence.  Draft a first person note to the 

ambassador of that country congratulating him/her on the occasion. 

b) Two countries in your region have noted a sharp rise in average temperature in the last 

two decades, leading to the melting of the glaciers and erratic weather conditions. 

Delegates of the two nations have met several times and have come up with measures to 

address the problems. Draft a joint communiqué that calls for an immediate and forceful 

action.  
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Extra paper II: - Foreign Policy & International Relations 

 

Section (A) - 20 Marks (10×2= 20) 

1. Nepal’s Foreign Policy         

1.1 Evolution of Nepal‘s foreign policy 

1.2 Definition and determinants of Nepal‘s foreign policy 

1.3 Guiding principles and Nepal‘s foreign policy 

1.4 Democratization of foreign policy 

1.5 Human rights: Nepal‘s obligations 

1.6 Environment: challenges of climate change and global warming  

1.7 Terrorism: global and regional instruments to combat it 

1.8 Globalization and its impact on Nepal‘s foreign policy 

1.9 Refugee issues 

2. Strategic and Political Relations between Nations 

2.1 Nepal's relation with SAARC countries 

2.2  Nepal's relations with major powers (China, USA, UK, France, Russia, Japan, 

Germany)   

2.3 Nepal's relations with EU and other major development partners 

 

 Section (B) - 30 Marks (10×3= 30) 

3. Nepal and International Organizations/Institutions 

3.1 United Nations: structure, functions and reform issues 

3.2 Nepal‘s membership in the United Nations 

3.3 Role of Nepal in disarmament and international peace  

3.4 Nepal‘s participation in UN Peacekeeping Operations 

3.5 World Bank Group  

3.6 International Monetary Fund  

3.7 World Trade Organization  

3.8 Asian Development Bank   

4. Nepal, Non-Aligned Movement (NAM), and Least Developed Countries  

4.1 Origin, purposes, principles and relevance of NAM  

4.2 Nepal‘s role in NAM  

4.3 Nepal's role in Least Developed Countries (LDC), Land-Locked Developing 

Countries (LLDC) and in the Group of 77 and China (Developing countries) 

4.4 South-South Cooperation 

4.5 Rights of Land-Locked States 

5. Regional Organizations and Nepal     

5.1 Concept, growth and importance of regionalism  

5.2 EU, ASEAN, SAARC, BIMSTEC, Shanghai Cooperation Organization (SCO) 

5.3 Nepal in SAARC   

5.4 Nepal in BIMSTEC 
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Section (C) - 20 Marks (10×2= 20) 

6. Economic Diplomacy: In Case of Nepal      

6.1 Foreign aid: role of foreign aid in Nepal‘s development 

6.2 Foreign trade: challenges of increasing trade deficit 

6.3 Foreign employment and role of remittance in national economy 

6.4 Tourism promotion  

6.5 Hydropower development 

6.6 Foreign Direct Investment (FDI) 

6.7 Non Resident Nepalese (NRNs) 

7. Ministry of Foreign Affairs and Nepal's Diplomatic and Consular Missions  

7.1 Role and functions of the Ministry of Foreign Affairs 

7.2 Nepal Foreign Service, diplomacy and national interest 

7.3 Functions of Nepalese diplomatic and consular missions 

7.4 Challenges of Nepalese diplomatic and consular Missions 

7.5 Vienna Convention on diplomatic relations, 1961 

7.6 Vienna Convention on consular relations,1963 

 

Section (D) - 30 Marks (10×3= 30) 

8. Nepal’s Bilateral Treaties       

8.1 Nepal-India Treaty of Peace and Friendship, 1950 

8.2 Nepal-India Extradition Treaty, 1953 

8.3 Nepal-India Trade and Transit Treaty (1960) with periodic revisions 

8.4 Nepal's Treaty of Peace and Friendship with China, 1960 

9. Diplomacy: Definition and Changing Role     

9.1 Definition and evolution 

9.2 Changing nature 

9.3 Types (Type I and Type II diplomacy, public diplomacy, citizen diplomacy, cultural 

diplomacy, virtual diplomacy, conference diplomacy, preventive diplomacy) 

9.4 Diplomatic terminologies (Agreement, Aid Memoire, Ambassador-designate, Ambassador-

at-large, Ambassador Extraordinary and Plenipotentiary, Asylum, Attaché, Chancery, Charge 

d‘ Affaires, Consul, Consulate General, Credentials, Demarche, Diplomatic Bag, Diplomatic 

Illness, Dual Accreditation, Exchange of letters, Excellency, Exequatur, Full Power, Good 

Offices, Laissez Passé, Persona Non Grata, Precedence) 

9.5 Negotiation skills 

10. Theories of International Relations, International Law and Practices 

10.1 Theories of international relations (Realism, Liberalism, Democratic Peace Theory, 

Institutionalism, Marxist Theory, Constructivism, Functionalism) 

10.2 International Law:  

10.2.1 Definition and general principles of international law 

10.2.2 Recognition of states and governments 

10.2.3 Treaty making (definition of treaties, full power, conclusion of treaties, 

validity of treaties) 

---- ---- 
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Extra Paper II: Foreign Policy & International Relations 

Sample Questions 

  

(First Set) 

Section A: (10 × 2 = 20) 

1. Describe the notion of democratization of foreign policy in Nepal‘s context and identify 

constitutional provisions in Nepal for the practice of sovereign control over the foreign 

policy.  

2. It is said that India, China and the United States of America have their own strategic interests 

in Nepal. How do you perceive this statement and what do you think are their strategic 

interests in Nepal? 

Section B: (10 × 3 = 20)  

3. While talking about Nepal and the United Nations, two aspects are evident:  one is that Nepal 

would contribute for international peace and security through the UN and the other being 

Nepal would utilize the UN for the promotion of national interest, including socio-economic 

development. Elucidate both aspects.  

4. Describe some major challenges that Nepal has been facing as a LDC.  And enumerate the 

priority areas of action set out in the Istanbul Program of Action (IPOA) 2011- 2020 adopted 

by the Fourth UN Conference on LDCs.  

5. ‗The South Asian Association for Regional Cooperation (SAARC) was doomed to fail from 

its inception‘ in the circumstance of perennial political acrimony between particular member 

countries. How do you assess this statement and what are your suggestions for making 

SAARC more functional?  

Section C: (10 × 2= 20)  

6. What role do you think Non Resident Nepalese (NRNs) can play for the economic 

development of Nepal? Put your argument for and against the provision of ‗dual citizenship‘.  

7. Enumerate the functions of diplomatic mission as per the provision of the Vienna Convention 

on Diplomatic Relations 1961 and suggest ways to make Nepalese missions more productive. 

Section D: (10 × 3= 30) 

8. Highlight the major features of the Treaty of Peace and Friendship 1950 between Nepal and 

India and give your opinion on Article V and Article VII of the treaty. 

9. Briefly explain public diplomacy and cultural diplomacy. What should Nepal do in order to 

utilize these tools while conducting her diplomacy abroad?   

10. Elucidate on Realism and Liberalism theory of International Relations. In you view which 

one would provide more pragmatic guidelines for Nepal‘s foreign policy? 
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(Second Set) 

 

Section A: (10 × 2 = 20) 

1. Discuss briefly the determinants of Nepal‘s foreign policy and also mention about the guiding 

principles.  

2. In terms of managing her relations between India and China, Nepal has to replace the ‘yam 

theory’ psyche with the emerging thoughts of ‘vibrant bridge’ between fastest growing 

economies in the world. Make plausible argument in favor of this statement. 

Section B: (10 × 3 = 20)  

3. Assess the overall role Nepal has been playing in the United Nations and suggest measures to 

be taken with a view to enhancing its participation in the UN peacekeeping operations.  

4. Briefly sketch the global political context in which the Non-Aligned Movement (NAM) was 

born. Do you believe that NAM still holds its relevance despite the end of Cold War era? Put 

forth your argument.  

5. The South Asian Association for Regional Cooperation (SAARC) has become a ‗talk shop‘. 

How do you assess this statement? What are your suggestions for making SAARC an 

effective regional organization?  

Section C: (10 × 2= 20)  

6. Foreign Aid, if not utilized productively, may create ‗dependency syndrome‘ in the 

development process of a recipient country. Explain this statement and suggest how Nepal 

can productively use foreign aid.  

7. ‗Foreign policy is goal and diplomacy is means‘. Explain this notion. What are your 

suggestions for making the role of the Ministry of Foreign Affairs effective in conduction of 

Nepal‘s diplomacy? 

Section D: (10 × 3= 30) 

8. Briefly compare the Treaty of Peace and Friendship 1950 between Nepal and India and the 

Treaty of Peace and Friendship 1960 between Nepal and China. 

9. Define the following diplomatic terminologies: 

(a) Aid Memoire (b) Demarche (c) Good Office   

10. Define ‗full powers‘ as per the provision of the Vienna Convention on the Law of Treaties 

1969. Who are considered to have ‗full powers‘? 
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clGtd k/LIffM – ;Lk k/LIf0f, ;fd"lxs k/LIf0f / cGtjf{tf{ (Skill Test, Group Test & Interview) 

ljifoM– ;"rgf k|ljlw ;Lk k/LIf0f (Information Technology Skill Test) 

k|of]ufTds k/LIff of]hgf (Practical Examination Scheme) 

ljifo  k"0ff{Í ljifoj:t' lz{ifs cÍ ;do 

;"rgf k|ljlw ;Lk k/LIf0f 

(IT Skill Test) 
!) 

Devanagari Typing @=% cÍ % ldg]6 

English Typing @=% cÍ % ldg]6 

Word processing @ cÍ 

!) ldg]6 

Presentation System  ! cÍ 

Electronic Spreadsheet ! cÍ 

Windows basic,  Email and Internet ! cÍ 

hDdf !) cÍ  @) ldg]6 

 

 

b|i6Jo M 

 cf=j=@)&!÷&@ b]lvsf] lj1fkgaf6 nfu' x'g] u/L
  
cfof]usf] ldlt @)&!÷)*÷@@ sf] lg0f{o cg';f/ ;"rgf 

k|ljlw ;Lk k/LIf0fsf] k"0ff{Í  !) sfod ul/Psf] 5 . 

 

Contents 

1. Windows basic, Email and Internet 

 Introduction to Graphical User Interface 

 Use & Update of Antivirus 

 Concept of virus, worm, spam etc. 

 Starting and shutting down Windows 

 Basic Windows elements - Desktop, Taskbar, My Computer, Recycle Bin, etc. 

 Concept of file, folder, menu, toolbar 

 Searching files and folders 

 Internet browsing & searching the content in the web 

 Creating Email ID, Using email and mail client tools 

 Basic Network troubleshooting (checking network & internet connectivity) 

2. Word processing 

 Creating, saving and opening documents 

 Typing in Devanagari and English  

 Copying, Moving, Deleting and Formatting Text  

 Paragraph formatting (alignment, indentation, spacing etc.) 

 Creating lists with Bullets and Numbering 

 Creating and Manipulating Tables 

 Borders and Shading 

 Creating Newspaper Style Documents Using Column 

 Security Techniques of Document 

 Inserting header, footer, page number, Graphics, Pictures, Symbols 

 Page setting, previewing and printing of documents 

 Mail merge 
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3. Presentation System 

 Introduction to presentation application 

 Creating, Opening & Saving Slides 

 Formatting Slides, Slide design, Inserting header & footer 

 Slide Show 

 Animation 

 Inserting Built-in picture, Picture, Table, Chart, Graphs, and Organization Chart etc. 

 

4.  Electronic Spreadsheet 

 Organization of Electronic Spreadsheet applications (Cells, Rows, Columns, 

Worksheet, Workbook and Workspace) 

 Creating, Opening and Saving Work Book 

 Editing, Copying, Moving, Deleting Cell Contents 

 Formatting Cells (Font, Border, Pattern, Alignment, Number , Protection, Margins and 

text wrap) 

 Formatting Rows, Column and Sheets 

 Using Formula with Relative and Absolute Cell Reference 

 Using Basic Functions (IF, SUM, MAX, MIN, AVERAGE etc) 

 Sorting and Filtering Data 

 Inserting Header and Footer 

 Page Setting, Previewing and Printing 

 

----- 
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k|of]ufTds ;"rgf k|ljlw ;Lk k/LIf0fsf gd'gf k|Zgx?  

(Sample questions of Information Technology Skill Test) 
 

1. tn lbOPsf] b]jgfu/L] Text  nfO{ cfwf/ dfgL 6fOk ug{'xf];\ .   [2.5 cÍ ]    -5 ldg]6_ 

-sDtLdf 150 zAbx? ePsf] b]jgfu/L] Text lbOg]5 ._ 

2. tn lbOPsf] c+u]|hL Text  nfO{ cfwf/ dfgL 6fOk ug{'xf];\ .   [2.5 cÍ]    -5 ldg]6_ 

-sDtLdf 200 zAbx? ePsf] c+u]|hL  Text lbOg]5 ._ 

-k|Zg g+= #, $, % / ^ sf nflu hDdf      10 ldg]6_ 

3. Perform the following in Word Processing:   [0.54 = 2 cÍ ]   

a. Copy and paste the English text typed in question no. 2 in a new document. 

b. Insert a table with 3 columns and 5 rows below the text. 

c. Insert a picture. 

d. Apply Page Border and save it. 
 

4. Prepare a presentation for the following information. [0.52 = 1 cÍ]    

 

(PSC: Independent Constitutional Body,  

Established: 15 June 1951,  

Functions: selecting meritorious candidates for civil service) 
 

5. Prepare the worksheet as below and insert suitable formula to calculate average salary.  

        [0.52 = 1 cÍ]     

S. No. Name Post Salary 

1 X JS    32,000.00  

2 Y US    27,500.00  

3 Z SO    24,500.00  

Average Salary: 

  

6. Perform the following:      [1 cÍ]   

Set www.psc.gov.np as home page in your internet browser. 

 

 

b|i6Jo M 

 Word Processing, Presentation system, Electronic Spreadsheet / Windows basic, Email 

and Internet cGtu{tsf feature x? ;dfj]z ePsf !) ldg]6df ;lsg] k|Zgx? ;f]lwg]5 . 

 

 

 

 

http://www.psc.gov.np/
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c+u|]hL jf b]jgfu/L Typing Skill Test  sf] nflu lgb]{zgM– 

1=  b]jgfu/L Typing Skill Test sf] nflu !%) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s k|bfg 

ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 % eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 

 % jf ;f] eGbf a9L / &=% eGbf sd z'4 zAb k|lt ldg]6 afkt )=%) c+s 

 &=% jf ;f] eGbf a9L / !) eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 

 !) jf ;f] eGbf a9L / !@=% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 

 !@=% jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 

 !% jf ;f] eGbf a9L / !&=% eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 

 !&=% jf ;f] eGbf a9L / @) eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 

 @) jf ;f] eGbf a9L / @@=% eGbf sd z'4 zAb k|lt ldg]6 afkt @=)) c+s 

 @@=% jf ;f]eGbf a9L / @% eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 

 @% jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

 

2. English Typing Skill Test sf] nflu @)) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s k|bfg 

ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 ^ eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 

 ^ jf ;f] eGbf a9L / ( eGbf sd z'4 zAb k|lt ldg]6 afkt )=%) c+s 

 ( jf ;f] eGbf a9L / !@ eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 

 !@ jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 

 !% jf ;f] eGbf a9L / !* eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 

 !* jf ;f] eGbf a9L / @! eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 

 @! jf ;f] eGbf a9L / @$ eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 

 @$ jf ;f] eGbf a9L / @& eGbf sd z'4 zAb k|lt ldg]6 afkt @=)) c+s 

 @& jf ;f]eGbf a9L / #) eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 

 #) jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

3. c+u|]hL jf b]jgfu/L Typing df lbOPsf] Text nfO{ cfwf/ dfgL 6fOk u/]sf] Text ;Fu le8fO{ r]s ul/g]5 

. lbOPsf] c+u|]hL jf b]jgfu/L Text df pNn]lvt :yfg adf]lhd k/LIffyL{x?n] cfkm\gf] Text df 

Punctuation 6fOk gu/]sf] kfOPdf To;sf] zAbdf u0fgf ul/g] 5}g . tTkZrft lgDg Formula  k|of]u 

u/L z'4 zAb k|lt ldg]6(Correct words/minute) lgsflng]5 .  

 Formula: 

 z'4 zAb k|lt ldg]6 (Correct words/minute) =  
(Total words typed − Wrong words)

5
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cfof]usf] lg0f{o M –  ldlt @)&!÷)^÷)@ ut]   

;fd"lxs k/LIf0f (Group Test) 

;fd'lxs k/LIf0f JolQmTj k/LIf0f (Personality Test) sf] Ps c+z xf] . lghfdtL ;]jfsf] If]q lj:tf/ tyf 

sfo{ k4lt kl/jt{g ;d]t e}/x]]sf] ;Gbe{df g]kfn ;/sf/sf gLlt, of]hgf, sfo{qmd cflb dfly ljrf/–ljdz{, 

5nkmn u/L ltgsf] cem} a9L k|efjsf/L tyf sfof{Gjog of]Uo ;dfwfg klxNofpg] ;DaGwdf pDd]bjf/x?sf] Ifdtf 

klxrfg ug'{ o; k/LIf0fsf] d"n dd{ xf] . . o;sf] nflu 5nkmn, ljrf/–ljdz{ u/L kl/l:ylt a'‰g ;Sg], lg0f{o lbg], 

hgtfnfO{ lqmofzLn agfpg], lrQ a'emfpg], lgwf{l/t nIo cg';f/ sfd ug]{÷u/fpg], h:tf sfdsf nflu n]vg 

Ifdtfsf ;fy;fy} ;d:ofnfO{ oyfy{k/s 9+un] klxrfg ug{ ;Sg], jfsk6'tf, lzi6tf, ts{zlQmsf] klg cfjZostf 

kb{5 . 

 To;}n] o; k/LIf0fdf pDd]bjf/x?sf] jf}l4s Ifdtf, ;+rf/ ;Lk, ;d"x ultlzntf, Jojxf/, JolQmTj, 

dgf]j[lt, lqmofzLntf, lg0f{ozlQm, ;d:of ;dfwfg Ifdtf, g]t[Tj Ifdtf, ;do Joj:yfkg tyf JolQmTjdf ePsf 

cGo u'0fx?sf] cf+sng cyf{t k/LIf0f / d"NofÍg ug{sf] nflu pDd]bjf/x?nfO{ s'g} ;d;fdlos 

ljifo÷;jfn÷;d:ofdf ;fd"lxs 5nkmn u/L k|efjsf/L / sfof{Gjog of]Uo ;dfwfg lgsfNg lbOG5 .  

 

;fd"lxs 5nkmn (Group Discussion) 

 

o; k|of]hgsf] nflu ul/g] k/LIf0f !) k"0ff{Í / #) ldg]6 cjlwsf] x'g]5 h'g g]tfljlxg ;fd"lxs 5nkmn 

(Leaderless Group Discussion) sf] ?kdf cjnDjg ul/g] 5 . lbOPsf] k|Zg jf Topic sf ljifodf 

kfn}kfnf];Fu lglb{i6 ;doleq ;d"xjLr 5nkmn ub}{ k|To]s pDd]bjf/n] JolQmut k|:t'lt (Individual 

Presentation) ug'{ kg]{5 . o; k/LIf0fdf d"NofÍgsf] nflu b]xfo cg';f/sf] # hgf eGbf a9Lsf] ;ldlt /xg]5 .  

cfof]usf ;b:o   – cWoIf 

cfof]usf ;b:o   – ;b:o 

dgf]lj1   – ;b:o 

bIf÷lj1 -! hgf_  – ;b:o 

 

;fd"lxs 5nkmndf lbOg] gd'gf k|Zg jf Topic 

 

pbfx/0fsf] nflu – phf{ ;+s6, u/LaL lgjf/0f, :jf:Yo aLdf, vfB ;'/Iff, k|ltef knfog h:tf Topics  dWo] s'g} 

Ps Topic dfq lbOg]5 . 

 

 

 

 

 


